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PART.}
CHILD DEVELOPMENT AND PEDAGOGY

1. Whe ) . =
n a child studies for the sake of
a reward or p

ank, his motivation is
(1) internal motiv

3.  The 'play' in which children play

. beside other children but not with
ation

(2) natura] motivation them is
(3) intrinsic motivation (1) cooperative play
(4) extrinsic motivation ’ (2) parallel play
(3) associative play
& LS “
/Uﬂbj.l:'—g/ -,—9.{ 1 (4) solitary play
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J/f &5 oo (4) J:.{J//“y (3)

2. Geeta is frightened of writing

examinations, she requires this type ‘.}5‘{ Lf? @)
of guidance-

(1) health guidance

(2) vocational guidance 4. ‘Aptltude which influences learning

(3) personal guidance is a /an

(4) child guidance (1) cultural factor
(2) school factor

" > S 3 1 £
JK) V) f:(j’ lc‘:_uj._;'ic-,é@@*;[;{ 2 (3) personal factor

- . (4) eﬁvironmental factor
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5.  Punishment for children doesn't have
(1) timing objections
(2) legal objections

(3) scientific objections

(4) moral objections
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A @
S5 ©

4)

1111
6. Children are active seekers of

knowledge in rich socio-cultural

contexts according to
(1) Rogoff

(2) Chomsky

(3) Kohler' |

(4) Vygotsky
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7. Child recognizes its mother by the
age of

(1) sixth month
(2) fourth month
(3) third month

(4) fifth month
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8.  'Stamping in' of correct responses and

'stamping out' of incorrect responses
s

(1) classical conditioning
(2) operant conditioning
(3) insightful learning

(4) trial and error learning
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9. Universal grammay
house of rules that 4
beings. This is g

15 a built-in store 11

D lexia' i o
pply to all human yslexia' 1s a/an

(1) arithmetic disability

(1) interactionjgt perspective (2) speech disability
(2) nativist perspective (3) writing disability
(3) behaviorigt perspective (4) reading disability

(4) humanist perspective -« Dyslexia .11
4
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10. According to Kohlberg's stage I of can be studied using the
preconventional level, "morality" is

judged in terms of (1)- Suryey method

(1) human rights (2) Cliq\ical method
((?) 500121 rules (3) Experimental method
needs
-(4) consequences ’ (4) Anecdotal method
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13. One of the following 1s not a self-

learning strategy.

(1) Buzz session

(2) Individually prescribed
instruction

(3) Computer assisted instruction

(4) Programmed instruction
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14. Establishment of goals and objectives

is done in this phase of teaching.
(1) Reactive phase
. (2) Postactive phase

(3) Preactive phase

"Children by nature are explorers" is
the basic philosophy of

(1) inquiry based learning
(2) observation learning
(3) expository learning

(4) induced learning
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16. One of the folldwing is not a type of
intelligence in Howard Gardner's

Multiple Intelligence
(1) Musical intelligence
(2) Mechanical intelligence

(3) Spatial intelligence

(4) Linguistic intelligence

(4) Interactive phase ) /:-:.f J u,/ 5/{31)& ’; J*:‘:P J:). ?) 16
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17. Memory for 'events' is a/an
(1) short-term memory
(2) sensory memory

(3) semantic memory

(4) episodic memory
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5 Guf
By

Sl
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18. Learning Hindi helps in learning

Punjabi. This is an example of

(1) bilateral transfer
(2) zero transfer
(3) negative transfer

(4) positive transfer
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(1)

@)

(3)

(4)

(1) Extinction
(2) Reproduction
(3) Retention
(4) Attention
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20. Rorschach Ink Blot test is a
(1) nonprojective test
(2) sociogram
(3) personality inventory

(4) projective technique
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19. Observation learning doesn't include
one of the following processes.
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21. "Developmental tasks" were first
introduced by

(1) Bower
(2) Vanden Dale
(3) Robert Havighurst

(4) Hurlock

JJB"%C— ...,/l(ZchL Ly 21
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s (1)
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Small groups of classmates working

22.
toward common goals is called
(1) insightful learning

(2)
(3) incidental learning

verbal learning

(4) cooperative learning
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23.

24.

25.

Child-centered education gives
importance to
(1) learner (2) content
(3) methods (4) teacher
el R
—e ey Vf."i,/y 23
sl (2) u’JU? (1)
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Emotion accompanying the instinct of

"escape’ 18
(1) fear (2) curiosity
(3) acquisition (4) appeal
-~ €¢, L9y » ¢
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Programmed
application of the

instruction 1s an
(1) trial and error learning theory
(2) insightful learning theory

(3) operant conditioning theory

(4) classical conditioning theory
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26. Teacher who gives complete (reedom
to his children is an example of

(1) charismatie leadership
(2) Laissez-fajre leadership
(3) democratic leadership

(4) authoritarian leadership
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27. Status of reading interests of rural

and urban children at different age

levels can be studied by employing
the

(1) cross-sectional approach
(2) longitudinal approach
(3) experimental method

(4) clinical method
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28.  According to Ebbinghaus, the amount
of learnt material forgotten after a
time lapse of 20 minutes 18 about

DL L 20 L Tk 28
A, Ty

(2) 66%
(4) 47%

(1) 29%
(3) 81%

"Everyone belongs to the schoo'l;
everyone is welcome to the school" 1s
concept of a/an

(1) inclusive school

(2) Montessori school

(3) integrated school

29.

(4) special school
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30. Children will be able to classify the
living animals in
(1) concrete operational period
 (2) period of intuitive thought
(3) preconceptual thought

(4) sensorimotor period
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61.

62.

63.

64.

How long has it been raimming?

Choose from the alternatives given
below the appropriate answer for the

question above.

(1) It has been raining from an hour.
(2) It has been raining for an hour.
(3) Tt 1s raining from one hour.

(4) It is raining since one hour.

The child has been missing
......................... yesterday.

Fill in the blank with a suitable
preposition.

(1) by
(2) before
(3) from

(4) since

He showed much patience.

Identify the part of speech of the
underlined word.

(1) Verb

(2) Preposition
(3) Adjective
(4) Adverb

chair / this / away / take / broken
(b) (c) (d) (e)

Re-arrange the words to make a
meaningful sentence

(a)

(1) (a), (e), (d), (b), (¢)
(2) (d), (c), (b), (e), (a)
(3) (d), (b), (a), (e), (c)
(4) (b), (e), (a), (d), (¢)

PART-II
LANGUAGE 11 : ENGLISH

65.

66.

67.

68.

You write a letter to your friend,
You take leave by one of the following.
(hoose the correct ending.

(1) Your's sincerely,

(2) Yours sincerely,

(3) Your faithfully,

(4 Your's faithfully,

I came to school.

Change the above sentence into

negative form.

(1) I did not come to school.
(2) 1 had not come to school.
(3) I was not come to school.

(4) I don't come to school.

The hair of Bill is very long.

Change the underlined parts by using
's by selecting the correct option.

(1) Bill's hairs is very long.
(2) Bill hair's is very long.

(3) Bill's hair is very long.

(4) Bill's hairs' is very long.

My mother
Scotland.

Choose the right form to fill in the
blank.

(1) grown
(2) grew
(3) had grown

(4) have grown

B ——— g

e ——
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69. Lalitisas ... as Mohit. | 7g

70. Identify the correct sentence from the

71.

72.

v

Fill in the blank with a suitable word.
(1) the cleverest

(2) cleverest

(3) cleverer

(4) clever

following options :
(1) Julia has got three weak holiday.
(2) Julia has got three weeks holiday.

(3) Julia has got three week's
holiday. - 74.

(4) Julia has got three weeks'
holiday.

You can carry out that plari easily,

Complete the sentence with the most
appropriate question tag.

(1) have you
(2) haven't you
(3) can't you

(4) can you

My eyes are black.

Identify the correct question to get

the above answer.

(1) Which colour is your eyes?
(2) What colour is your eyes?
(3) Which colour are y(;ux' eyes?

/

(4) What colour are your eyes?

[1Q1

75.

He uses a flutter kick and a tumble

turn.

The underlined word means ?"-'
(1) roll over and over

(2) fly over

(3) jump slowly

(4) move quickly

Choose the word with the correct

spelling.

(1) senator
(2) seneter
(3) senater

(4) senotar

Choose the set of words that are

arranged in the alphabetical order.
(1) skillful, sick, single, size
(2) size, skillful, sick, single
(3) single, size, skillful, sjck

(4) sick, single, size, skillfy]
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(76 - 79) For each of the numbered blanks in the following passage, choose the most

suitable word out of the alternatives (below the passage) given against each number,

(76) . we either email the person or SMS them.

Nowadays, when we want to
Everything _ (77) at the click of a mouse, or the pressing of few buttons. Not so long

ago, most people wrote letters, put them in an envelope, (78) it in a post-box and

waited (79) to hear from friends.

76. (1) talk 78. (1) thrown

(2) enjoy (2) kept

3) communicate (3) pushed

(4) play (4) dropped

77. (1) happens 79. (1) badly

(2) happened (2) surprisingly

(3) happening (3) patiently

(4) happen (4) wisely

110) X7 T 119 T'AERTTM
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80 - 84 Read the following passage carefully and answer the questions given below it.

Aftab lived in the small village of Nayagaon with his grandmother, He was 182y and
good- for-nothing. He did not go to school; he did not want to work either. He roamed
m.ound the whole day long, playing marbles and flying kites with a group of idle men.
Aftab's grandmother was worried about his future. She decided to send him to the city
«0 her brother. She hoped he would learn a trade there and earn money. Aftab tried to
persuade his grandmother to allow him to stay, but she had made up her mind. She
gave him twenty rupees, blessed him and sent him away.

Aftab went to the station and bought his ticket. On-the platform, he saw a lot of people

waiting for the train. Many of them were speaking English. Aftab sat on a bench listening
to the people talking around him.

Two men standing close to him were talking and one of them was nodding his head

vigorously saying, "Yes, yes, yes !" Aftab stored the word in his mind.

A child started crying, pointing to the icc-cream cart. Its mother shouted, "No, no,
10 ! You have a cold. You cannot have an ice-cream. No, no !" Aftab stored 'No' in his
mind. He was happy. He had learnt two English words even before going to the city.

80. Aftablivedin a

83. The child was crying because

(1) city he oo
(2) small village . ;
&3, adhnl (1') had a cold
(4) station (2) was happy
81. The word 'persuade' used in the (5) wasin the station

passage means ............

(4) wanted an ice-cream
(1) console

(2) examine

_ 84. Before going to the city, the number
(3) convince

of English words Aftab learnt

(4) agree
WAS .oeeeereeeeeeeree e
82. Aftab's grandmother gave (1) two
BT ... civeescose-coosssnen
(1) fifteen rupees (2) three
(2) twenty rupees (3) four

(3) twenty-five rupees
(4) thirty rupees (4) five -

ronl
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85 The iask ft‘.‘.}“.x‘} ed {o do\'v!op the
ckall of wming 18
referning to a dictionary
2! parraton
T :.:‘S.
4! ComPpoOsilion
86. The objective of the supplementary
reader 1s 10

2 increase the reading speed
3. learn answers
Z/ spell words

57. Identify the structural word from the

- : - i 1
AOTOAE ZIVEDR Delow.

N
(.\
-

: ’n d
aoctor

s

r
Trrye-
IS4 95

P.T.O.

METHODOI ()(-Y

88.

89.

90.

: la
Test mumed to find [anguage skl

course of

acquired during the
instruction 1s the
(1) placement test
(2) diagnostic test

(3) achievement test

(4) proficiency test

Structural-oral-situational approach
came into practice as an alternative

to

Choose the correct alternative from

below.

(1) Dr. West's reading method
(2) Bilil;gual méthod

(3) Direct method

(4) Grammar-translation method

Identify the word which has the

similar pronunciation the

underlined letter in the word Prize

as

(1) wige
(2) advice
(3) price

(4) rice
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al. Thevalueof 1. ' !

s | W8 93. Il one hiter of petrol costs Re. 71 with

1 an increase of 39 every siX months,
IR 1-{... +
\ 2 then the increased price after six

[

) \ 2 '\ months 15 (in R

4 V7 LXE ZrreuTled (el )1 98
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92. Numenical dats repreiemed thmugh (3) 78.10 \, \
% _',//' C
pictures is called a i ‘ 4) 7550 :
7 t

Jrok

Histogram Cx
% Pin dinerech 4 94. If 3 angles of a triangle are in the
3) Pictogram Y v ratio of 1 : 2 : 3, then the smallest
.‘_'/4 . !
'4) Bar graph S © angle is
- | 33-C
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= I < 1 97 cht‘ cost ol a cell phmu s R S0
£ oo n.ﬁi't‘-y.e. DUNCH 15&’\; a }“‘\ sel e
95- I. a -?7.‘0-—- $ 3
and the cost of a l:mdllm‘ l‘l“"“' '8

for Rs 115 and sold for a profit of 20%. |
Lth the cost of coll phone, then the
s

Cas kol o7

. ' fin Re)
j cost of the land phone s Gt Rs

. == - 1,"“—- ‘t)()-‘" i W [
- 3y ®one - = .
-’.—r/':"",":’v s ]*0"‘";"-“\1- - ¢ ‘: I %%
o - .. ,;- -: ‘r g eyt ,
et » Yo o d i e
3 (Puss St v e
- b [ g
e T - e
Y G5 L ) 1,500 ) )
1y 9% “oC L . W n0 €~
; \< " N \)\ ‘\{ 1 Q‘) )
g - R \N'\ . v L e
I =9 P A ) 2) 4 200
2) 138 > A ) S YR =
A C -
. “ Ve (3) 2,100 W R
3 13‘3 ) ) ‘,\(\(“ + \‘[
S
3 @) 1,050 - e
(4) 120 e - — ) &
, . -
T = 98. The monthly earnings of =«
\‘\

construction labourer for the month

96. The greatest number that divides 60 > _
of May who earns Rs. 250 per day is

and 165 is
(n Rs)
74 _ k
0/ 1655160241 .96 -
b : /2 Ja_.'.'.’_,u.:bu._. 1,250 98
= ¥ E =4 -~ o
- -~ A
) - \_/'/ b f\ (U“'\J_'-".‘)d“-uud# du { JQ\/’
(1) 10 N NS
\:\ o \ \L‘

(2) 165 L \ (1) 7,000 R
(3) 20 _ 2) 7,250 e
(4) 60 (A (3) 7,750

\ (4) 7,500

PTO & el . k"
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99. The number of days from 13"

12" August is (both d

;IﬂJQ);J&fﬂ_Zc,uﬁ 13

ays inclusive) ‘

June to | 101. The line which travels 1n the

same path infinitely on either sides

1s called a

99 (1) straight line
({d_/rJL;;(ujguj,,) ! (2) line segment
(3) ray
(1) 60
»C \,’\ (4) curved line
2) 61 W ) :
AX AFCI Sl 101
(3) 59 HY \¥ f
' SANPS e
(4) 62 AEAG o (37/55 ey
e <1 _
b > -
= 2
100. The data collected in the original /(: ’,J,;f @
S
form is called s (3)
(1) pict 5
pictogram ‘ o5 I
Df (4)

(2) pie diagram
" (3) grouped data

(4) ungrouped data

e GRS
i d;y‘j
=g

B

.100

(1

(2)

3)

4)

[24]

102. The number of axes of symmetry of

an isosceles triangle is

i uu)@( &“»Lw;.;é'uu sl 102

_c“_dx)u;
(1) 4
@3
(3) 2
4) 1

W-2/TET-112-EM/UM
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103. The number of hours in 2880 minutes
is

e sl Us 209880 103

(1) 72
(2) 120
Q\/
(3) 48, cv )%
}’% )\x{{
/k('j’ \
) 24 \ /6§7

104. One of the following is an even prlme.

\ -‘L)ﬁjfa"ug:f ufd:;

(¢ Y~
B L - /)77\7// } p;
\

P.T.O.

105. 1f 20 m. of cloth is equally divided into
lé m. of pieces, then the number of

pieces we get are

L/‘lz / //ZOJ/ 105
J!»"Ju:/(._f U/Mfﬂuhu)/d’l/
p oS dx
1) 12 ?\ :
e S ¢y o0
@ =
e
3) 24 R 5%
@2 3 £r2 }
= = 5

106. If Ravi and Suresh share Rs. 275 in

. 11
the ratio of 33 then the share of

Ravi is (in Rs.)
J % 3%&//3’@/}()5»275/?
L
e e e

(1) 115 ‘
(2) 220 g :
\ x >
\ 4
(3) 165 | ;
)
(4) 110 i ‘
) 1
>~ i
./\'
‘ ’ 'l /‘ .
> Y3 -

e A AR G
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107. The value of a proper fraction is

108.

always

-4‘:.8,@,3:;5:‘_{/%,31,\,@ 107

() =0
2) <1
3 =1

4) >1

A man travelled the first 153 km. in
3 hrs. and the next 92 km. in 4 hrs.
The average distance he travelled in

1 hr. is (in km.) ’

ﬁﬁu#@;ﬁhm%f,@ 108
St ek 028 e v/
ﬁyﬁbfﬂﬁ"o}ufﬂ‘fug-c"_t'/é}i

> -

(RS

(1) 61
(2) 51
(3) 35

(4) 245

o1

109. The difference hetween 9 10
and 6 m. 45 ¢m s
(1) 3 m. 80 cm.
(2) 2m. 80 cm.
(3) 15 m. 70 cm.

(4) 3m. 20 cm.
G 4526128 25/49

i -/

o/
- KE 8043
| HE 8042
< K& 10415
=z HE 2043

110. If Raju can walk 2% kms. in

95 crm.

.109

(1)

(2)

=3y

4)

1 hour

then the distance he can walk in 21—

hrs. is (in km.)
(S 22 Ghd (i
Pl Astus 2! e
() T2 Lo

(1 7 - 5
, Q//é A

/(2) 5 4 /(\
(3) 4 @ \b/
¥
(4) .6 &

XYY o/IrmMmyyIre;,y

110
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L11. The value of (3690 =+ 30) 38 15

a8 (3690+30)-38 111

“ » “ ‘K
(1) 857
(2) 18H
~ A\I
(3) 61 J
{4) 161
112. If 5 rows of barbed wire are to be

fenced around a square plot of side
70m. then the length of the barbed

wire required is ......... ..... (in meters).

WAL L Bl P70 112
Sl LA L5
(U )l

(1) 350 &4
(2) 1400 1
(3) 285

i

\

U067y

PT O

113. The number of degrees that make

one complete rotation is

,f.du:,uﬁ/f}{g 113

(1) 360°. —
2) 270 S
— Ty
(3) 180 P
| o
(4) 90° pi 8¥ el
\ oo

114. The journey time of Ravi who boarded

thé Godavari express in

Secunderabad at 17-00 hrs and

reached Vizag at 7-00 hrs the next day

(in hrs.)

dzsbfc._;lﬁ}’:u,?.eﬁsd 68 114
e 08, 2 17:00 |

< Cﬁf{g 7:00]-ﬁ‘{).d)¢_ 0

(Vtusd)

(1) 12
(2) 24
(3) 14

(4) 10
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METHODOLOGY

115. Synthetic method encourages
(1) logical reasoning
(2) prelogical reasoning

(3) classification of doubts

(4) meaningful learning

_c‘_t‘/dlf.!_»,xz ufdl@')‘fft

115

(1)

2

3

116. The specification that corresponds to

the objective 'knowledge' is
(1) give examples

(2) verifies

(3) classifies

(4) recognizes
e LA e
V] )Jf-" s
J 4
S Lo

-
o

=S

116

(1)
(2
3)

4)

[28]

117. "It is not a master to be feared, it 18

rather a servant to be

related to

'(1) a textbook

(2) a television
(3) an assignment

(4) a periodical

plé...gj. WD AN ﬁ/ VJ’Q”
-C‘QL}(’.’.KJ“ZJJ(GO)J
Ukl

ik

LA

Ssph

ordered"” is

JA17

(1
2
3

4)

118. The principle 'from concrete to

abstract’ was advocated by
(1) Thorndike
(2) Pestalozzi
(3) Comenius
(4) John Dewey
uf..:.:,L?(c)Uf’,: She s
: <

~

S

118

€y
(2)
3)

4)

W-2/TET-112-EM/UM
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119. Projected aids include 120. A child applies his knowledge of

(1) slides Mathematics to solve daily life

problems. This comes under
(2) photographs

(1) social value
(3) charts

. (2) cultural value
(4) graphs

-aJeuty 'LTJ’:”;% 119 (4) disciplinary value
Ui @ Jv /])J[th}h/ Ju‘ pc_.Lf-J:’ 120
A O el Lo Sl L
S ® e Q<
U@ whe @
g @
PYUTSTIC)

) }Jf’ 4)

(3) utilitarian value

on



@ BOOKLET

e —— -~
—

121. To preserve guava juice, ip addition

to citric acid, thig chemical is
added.

by, f‘.’iﬁi./@ﬁffw.ﬂrtg 121
e b GL Sl

(D K.ZMIISO4
(2) K,SO,
(3) KMnSO,
(4) K048,

also

| 122. The chemicals required to test the

presence of proteins in a boiled egg

are

(1) Copper Sulphate, Sodium Nitrate

(2) Copper
Hydroxide

Sulphate, Sodium

(3) Copper Nitrate, Potassium Iodide

(4) Copper
Sulphate

Hydroxide, Sodium

ébJ &K%Ju’fjfrdé_}!é_ni,f

122
..ct_(}{:;w/i’d/.,).//é“l,{,(g lié

UOS TS TN I S

I g\ el @

Tt fi @

| Lokt I Tk K @

PART-V
MENV]R()NMENTAL STUDIES

123. Bees give information about the
availability of food to other bees by

(1) releasing radiant hight
(2) releasing a scent into the air
(3) dancing

(4) making a loud noise

SEarfiad s muld 123
G2 L g v

L”Z—j!{(..ﬁu’)z @

inl e iy (2)

iyl 3

Zx "é,;jlﬂ'uij (4)

124. A responsible citizen wants to

| exchange his motorcycle keeping in
mind, the approved durability period
of the vehicle. He might have
purchased that vehicle -

(1) 15 years ago
(2) 20 years ago
(3) 5 years ago

'(4) 30 years ago

d:ﬁ:im}{ﬂ?ﬂ};ldﬁﬁﬂwhg

124
SIL S S Gyt ot
_é.ﬁf.dﬁbﬂnft‘;/&_ﬁtfé/;
Lo @ Lis o
.."L_:JerO (4) %JL«5 (3)

|EaYaR]
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]’),’\ A ».1»,,-f4-nf

obeerved a gradual

decrense in the height of the Mercury

column of a barometer Thie forecasats

the ocenrence of
i1 thunderstorm
(21 {loods

{3) a rainfall

4) a cyclone

~ ( N .
L AL sl K I

125
L,é/’: «C_&/,%{JZE/Z‘;LSAJ;&
-~ SUF

i G

-l @

g @
Ji® @)

126. The percentage of drinking water

available on earth 1s

e

KJ&L%L':L:&,?:{J:} 126
e}
(1) 8
(2) 5
(31 2
(4) 1

127, Carbon dioxide 14 liberated when
(1 earbonntes react with alkalines
t2) temporary hard water is hoiled
(3) nonmetals react with water

(4) metals react with fatty acids
_i,ﬁ.c‘:.tn@/u;;l,f:"};;@,g 127
JLISGAL gk D
P S @
UL IGAL L bt D
@L/ﬁi&&uﬁéuf s (@

128. The equivalent time in London for

9.50 am at Hyderabad is

N de 5.50am 2ol 128
"‘_:—U“

(1) 11.20 am
(2) 12.20 am
(3) 11.20 pm

(4) 12.20 pi
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129. Tropic of Cancer is not located in this
part

(1) Northern Hemisphere
(2) Western Hemisphere
(3) Eastern Hemisphere

(4) Southern Hemisphere

_ﬁ;ufgl,uﬁ‘éuiuwfy 129
JLIE @

Sy @

Jdd s ®

Sl @

130. India exports this mineral to Japan
in a huge quantity

(1) Gold
(2). Coal
(3) Iron

(4) Bauxite

alg;b/dui/!ﬁd*/.fugtgrut:/m\ 130

131. The highest political power in a state
is vested in the hands of the

(1) Legislative Assembly
(2) Cabinet
(3) Chief Secretary

(4) Governor

IS ok e Skl 181
e trt ALY

Sy @

=6 @

d/‘“}hj:?. &)

5 @

132. According to Dr. Sarvepalli Radha
Krishnan, the saffron stands as a
symbol for

(1) sacrifice
(2) adventure
(3) courage

(4). wisdom

L}‘/E’OJ"L‘EWLJ&/V)U&;;/‘

I e
< \NS AL =
‘ —e bl erte§ U1
(B V) .
dg / 1)
’, (2)
'L/ LSA) 2)
J @
5 CZA )
i’LfL (4) > =
il Aty - @
¥ [29]
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133. The Rashtrakutag encouraged (rade
with Arabs 1o

(1) expel the

trademen of the
noighbnuring

kingdoms
plan for mope Wars in the Arabian
region

Improve he eConomic position of
their kingdom

133

Py
FF C-,JG_:():CJ 3/?5 u;«'“@‘, y @
L VNP ks @
uzguu&u»aww @)

s o
OIS S B

134.

only
(4) fundamental duty of 4 citizen
~< L5k o <134
O’d:l{ffdiwg (1)

JJ""L:LL&J(S/U’:’_& G’LJ (2)
ShasQWISAT 5 g

S 0rli (@

P.T.O.

[9 a4

136.

135. To make the women reservation bil}

as an act, it should be approved by

(1) both Rajya Sabha and Lok Sabhg

(2) Lok Sabha, Rajya

Sabha and

President's assent

(3) Cabinetg of all states ip our

country

(4) all state Legislative Assemblies of

our Country

uiiéi.u_»{sﬂ_; 8T

135

E-bbsoils b
LUJ))L?‘“,:QDJ;H?‘J @)
@J){"qJMJJ’:‘%D: u—-_,@ (2)

| s:.(jﬂ -y
< 3 LUl i, @
T el e

c.u;:l.'“l

One of the followiy,

g 1s the organ of
U.N.O.

.-‘gggKU.N.O.ygutst 136

(1) WTo

(2) UN\ESCQ‘_
(3) UNIééF
('4> IESCC
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137. The dental formula of human

beings 1s

-f_,zgu&u;{u;w 137

(1) 3/3,1/1,2/2,3/3
(2) 1/1,3/3,2/2,3/3
(3) 2/2,1/1,2/2,3/3

(4) 2/2,2/2,11, 3/3

138. Gangilia are present in

l (1) peripheral nervous system
(2) central nervous system
(3) medulla oblongata

(4) autonomic nervous system

oSt R S A

B &

(wjgj”_d)’/ @)

4 PBET6S

138

(1)

3)

CY)

ey 41

139. The desire of possessing 2 high

standard of living in the developed
countries leads to the

(1) control of living standards

(2) control of population |
(3) growth of ecological problems
(4) growth of population

LJJLK&J?‘{;,U:JV;;LJ ;139

e Bl SIS
bl O
ST @
SeigfSdurt @
Sl @

140. Baulk line is a compulsion in this

game.
(1) Polo

(2) Baseball
(3) Tennis
(4) Kabaddi

e 2 E AL 140
Y

Juz @

o b

gE @
& @
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141. The paste of the following leaf is used

as a medicine for scabies.

143.

A farmer purchased two hectares of
dry land for cultivation. The following

crop may not be the preferred one.

(1) Banyan (1) Green gram
(2) Mint (2) Chilli
(3) Tulsi

(3) Sugarcane
(4) Eucalyptus

(4) Cotton

£ 1 be:;wﬁ_Lj,g =

141 | 200 cu,g.(___.a{ n,JJl 143
~e bl Ui EFA L )P u:\)_';-g_r,kﬁ
z -G
= (@2 Ly (D
5@ & @
s @ @
142. New plants can be grown from the V@
leaves of

(1) Begonia
(2) Ginger

144. The other name of larva ang its
colour ig

(1) amphibian, white
(3) Banyan

(2) maggot, yellow
(4) Vallisneria

(3) tumbler, yellow

142 (4) maggot, white
e K LL Sty 4
@ ,gvd"*'{)' (1)
% @ wietd e @
Lt @ il @

Lo Sl (g

P.T.O.

Oy
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145. If a child prepares

a model of the
Taj Mahal, he has

achieved the skill
of

(1) expression
(2) reporting
(3) manipulation

(4) drawing

Vet e e sl

145
- U K&JIL{

AF @

j,{, @)

2]

el @
146. One of the following is not a
characteristic of scientific temper.

(S

(1) Fear of defeat

(2) Suspended judgement °

METHODOLOGY

e e

147. The statement 'Nature is a pre-
established harmony' is stated by
(1) Galileo

(2) Keats
(3) Einstein
(4) Huxley

S e & (e 147
Sk u#

A:'f (1)
J\/ (2)
L'j eLT 3)
J L @

148. One of the following is the best way
of giving very short answer question

(1) Name any one of the famous dance
form in India.

(2) Write about any one of dance
forms in India.

(3) Write any one of the famous dance
forms.

(4) What are famous dance forms?

o Kotz rd_fer S5 148
(3) Cur1031ty , | - "
(4) Open mindedness rtgyd/ Bl '_‘g J ’( Z@'%ﬁ M
_c"_u.‘./‘n.:fc.‘f‘? Sei Ut age| » Y
“’?KJII Re) LﬁJéngél(LUt"ﬁM (2)
APELE @ Lo
@ LESu g o
S @ SV Bl @

[36]
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149. "Learning by doing' finds no place in | 150. One of the following is a three-

(1) the Lecture demonstration dimensional map

method (1) Political map

(2) the Problem method (2) Relief map

(3) the Project method (3) Special map

(4) the Heuristic method

-ﬁ«iﬂﬁw@Aﬂ%&;J“ 149

(4) Physical map
-§—}ﬁL;J/ng:J:5 150

Ak, O
e @
3 b @

Afjd(’ (1)
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4. On( of H )
behavior problem.
(1) self injured behavior
(2) getting less marks 1in
examinations

(3) antisocial behavior

(4) violent and destructive
behavior
—e e A de St |
Sirug b5

St et (2

PO AE

.ﬁ)&&l_, sy (4

5. [Education, social security comes’ :
under this category of child
rights. ' ‘

(1) Right to freedom

(2) Right to safety

(3) Right to live

(4) Right to develop

-QJLD/)JJL&HJPM&W.“
J KJ)UT

F&% (@
Jee (3

Fsds w/

2l

Gene rn]ly VAKT mothOd is used
for children with learning

disabilities. Here, V means,... .
(1) Valuable  (2) Visual
(3) Vocational (4) Verbal

VAKT £ #¢b 2L UEd e o 3L

VU L ey

g @ G (1
B @ J @

The main purpose of assessment
for learning is ..................

(1) when to teach

(2) why to teach

(8) how to teach

4) what to teach

~4—WfJ(U‘5J£’)£uL/{

Loy (@ byt (1

Lyl e iy (3

The type,. -of leadership in which
the decisions are taken by a
leader aloneé is ................... ’
(1) laissez faire

(2) permissive

(8) autocratic

(4) democratic

17 da? g‘m.;,-«u: Sl .»V/..//,J
- t‘/

Jd (@2 ebues (1

St (4 T @3
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8. Nondirective counseling is als0
known as ..o
(1) counselor centered
counseling
(2) eclectic (mixed) counseling
~ (3) client centered counseling
(4) problem centered counseling

A 2

(Non Directive ..w:l?:/')
<‘¢Hng(U‘{:J( Counseling)

:«Alﬂ‘)&/:? 1

caldFl (2

el fr (3

:«ulﬁ‘]&gﬂ/ (4
9. One of the following is a teacher

centered method.
(1) Lecture- demonstratlon
method

(2) Project method

(3) Problem solving methgq
(4) Heuristic methog

-LJJJ:?/”J;‘,:U
A @ 3 e, R "
2P @ e 3

P.T.O.

On.e of the following is not the
BUlding principle for curriculum
€velopment as proposed by

NCF- 9905,

(1) Making examinations more
flexible and integrating them
with classroom life

() Learning centers around the
textbook

6) Ensuring that learning shifts
away from rote methods

(4) Connecting the knowledge to

_life outside the school

W/ JEK2005 - NCF S1U% 5
-‘Lufgﬁcp;(}Wé_quf

Jusz/’C;ItlzJugu_U:,,{/ab?l (1‘

-.U?ch.‘(fl)
TSI S (2

2 S P i bl (3
sy diifie b L 1 (4

7

One of the following is not the

characteristic of léarning.

(1) Like growth, learning also
stops after a developmental
stage :

(2) Learning depends on
physical growth and mental
. maturity

(3) Learning is universal

(4) Learning involves cumulative
improvement

" W-802/TET-112-EM/UM
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12.

13.

According 0 Kohlberg, y, o

moral development in py,
ntages of individualg does

perce
thls IEVeL

not develop above
(1) Post-conventional leve]

2) Conventional level
3) Pre-conventional level

(@) Pre-moral level
I Ul BB b L s
Pl
G (1
ffe’/ 2
Cordiz 3
Edwidied @

Chomsky proposed a theory
for......
(1) mental illness

social development
moral development
language development

s )z‘{ﬂi.f ' Chomsky
WLHgs (1
g (2
ATCE
LE

10-

1L

One of the following is not a
principle of development.
(1) Development can be
predicted
(2) Development is cumulative
(3) Rate of development is
uniform in all stages
4

Development is a continuous

process
I e i
FedduE By
4.6&1%,‘9 2
< G LI UL AP 3

ﬁ;ﬂbl‘«ud/kggfvb?»’ﬁ (4
A child is playing, dressing and
talking with the doll, thinking
that 'it has life. The child is in
this stage of cognitive
development.
(1) . Formal operational stage
(2) Concrete operational stage
(3) Pre-operational stage
(4) Sensorimotor stage

J@pfu@ﬁﬁ%p‘}fqﬁg.g
s Ve Sy g S
e LV A
PO 1 /A O
W @
A @
n.wu(i-ué (4
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16. Secretion of the following gla“d

17.

P.T.O.

directly affects our emotions.
(1) . Parathyroid gland

(2) Thyroid gland

(3) Adrenal gland

(4) Pituitary gland

4 =i 1 ey 16 a0k J_’) -’

—e b S
»,w'ffff'/:/ Uv’bg (1
wiiEG (2
))ﬁd[‘q,/él 3

iy (4

One of the following is not a :

characteristic of a mentally|

healthy person.

(1) Self-discipline

(2) Lives in his own world of
| imagination and fantasy

(3) Having social maturity -

(4) Having emotional maturity

ety bdves® L i
| -
$55
¢ LSS s (2
AN @3
%f‘iéw (4

) Sumanth is efficient in doing

Mathematics. But he is not

efficient in playing chess. This is

an example of ..................

(1) intraindividual differences

(2) constructive individual
differences

3) variable individual

S differences

(4) interindividual differences
%’Zu’ﬁwgg.ﬁwﬁi_féyuw
-?J&ﬁd%ﬁt‘ﬂ
c«lill:;ldwiiﬁ;/. (1
=BEBIGAGE (@
=638 A (3
DI (4

15. There are ten students in a

primary- school. As per the RTE |
Act—2009, the number of

teachei‘/teachers to be appointed
TR .

AT W 10Ut I L
-é.gbmﬁé’ﬁufu:‘b 3L 2009
1 4

@ 3
@1,

) 2

. W-802/TET-11 2-EM/UM



@ Booklet

20. One of the following 1s not ap
attribute of the project method...
(1
(2
3)
<)

Unnatural
Learner centered
Series of activities involved

Learning by doing
e A LS

2

J//H‘..Ju, @
<Ay e Sue e (3
L ‘(4.

21. Nishanth learnt a set of 20
" meaningless words 1n ten
attempts. After one week, he
was asked to relearn the same
set of words. This time, he took
only four attempts. His saving
score 1S......
e I 20 A USH p
gy L st i ]

FEFE ATyl Sl

-
(1) 14%
(2) 60%
(3) 50%
(4) 40%

(6]

8. Teacher blameg Raju for not
completing homework ip front of
other students. After coming
home, Raju shouted at his sister
for no reason. This comes under...
(1) displacement
(2) regression
(8) 1dentification
(4) repression

L&L4LJQJ~;~JJ:(:J£UL/§
VAT ISR TR
- Il UL S L
Sl
(2
=3 (3
Jw 4
An experimenter wants to study
the impact of computer-aided
instruction on the aghievement of
students. Here the dependent
variable 1is
(1) lab environment
(2) experimenter

(3) achievement of students
(4) computer-aided instruction

CWes fruhdmi/ ik
‘?"*U}:}d/\ﬂﬁlﬁz‘;’t«lgt};’&qdﬂ’
Jrlsridhtf @
mi L @
Jky G
Fsnd ¢

_EM/UM

19.

................
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24. "Déja vu" is a/an

‘
ret

(1) French word

(2) Latin word
3) Greek word

(4)  English word

il
‘L."Dé_]ﬁ yu

B
sy
gl (3
B A @

25.
(1) self-actualization needs
(2) love and belonging needs
(3) safety needsl

4) physiologigél needs

~HSEE el

QLo (1
-:«Q/’/}Jv(."'%JL;i’éf (2
<G
=)

P.T.O.

.....

Food and sleep come under...

P2,

23.

nof
extinction 0

l.esponse

(1)

) ' .
avloy'g €Xperiment, the

f conditipned
18 due to anfthe... ...
Presence of higher order
conditioned stimulug

2)

Presence of unconditioned
stimulyg

(3)

absence of unconditioned
stimulys

(@)

absence of higher order
conditioned stimulyg

-2 ﬁﬁ(wﬁé J’:/ (f}/&“‘uf,jnﬁ il
<
e Eb L 1
G
$ard§inid @
arddEnsrsnd

Author of the book, "Mentality of
Apes" is ...

(1) Thorndike
(2) Pavlov
(3). Lewin
(4) Kohler

gL Mentality of Apes'_(
LBt @
@
gd (&
A @

W-802/TET-112-EM/UM



I —
P Bo et
.;1\‘;:;
v
4 , TP 96 Savithri doe
3~ SO with| T Sanskrit, doesn't understand
‘Slok it, but she can tell the
;ffc: as' in 'Bhagavadgita’
effectively. The memory of
Savithri in learning Slokas is...
(1) sensory memory
0 - (2) passive memory
o . - (3) rote memory
. & Ry M &S k/“"«j.l (4) log’ical memory
. s P . . .
g S J#'Lbf@,&,,gggcfwﬁ;?d},p
- ’ “ ’;r (1 P 4 - ~ .
e r soby (1 uﬁéj&_f)/ ‘ég-dc 4/4/)’/,‘}(_ (Slokas)
g =2lp (3| e B
99. Thorndike's the of trial and! .: .
| igEal ang Seer @ B (1
error arming ) KNown as sl
o Catls theorn 56 (@ Bbints (3
@ CofieRionion ‘127; One of the following is not
\ 2 o 3 correct.
- v‘t"“ 1eaITIIE (1) Bhatia Test Battery —
(4) Instrumentailsm i Individual test of
AR SN '; intelligence
i . ) ) )] Weschler 1nte111gence scale
Plats 2 P Cats (0 for children — Group test of
=27 (4 R (3 intelligence
o e e ; }. i zboy! () Raven's Progressive
50. lhe inteitgt o | Matrices — Nonverbal test of
ic 45. He may be cla sified as.....|
e | intelligence
(1) gifted ’ (4) Army Alpha Test — ‘Group
(2) a moron ‘ test of intelligence :
(3) an 1mbecile | : ‘ 4—0/5:((;‘)’
4y an idiot *
4) an idiot | LGPl (0
m { /C‘ ~ 7Y ',' . !
e e 50v “”"W”“‘('; S JE Gy Pl Lug @
Sos (@ % | .«5/
2 . ! ‘
Uhe. ¢ femf 3 0L a'p-uz';f,agé‘/gp (3
i %
5 f 5o ”
; s L5 ] (4
gl '
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6. Jdentify the “'WUWerwﬁlim,he 64. "“““anﬁrthanRahim,‘

1 1
manx

If you change the ahove sentence

¢ eats S— Y s el g
H L= b,, na na (_'V(:r" lntf) th‘, pf_};’]t,ve f‘)rm COT]'&C{}"/’. y{)u
morning will get -

(1) any (1) Rahim is not 5o tal] as AlL.

(2) Rahim is as tall ag Ali.

(2) an
§ (3) Rahim is less ta]] than AlL.
:)) a ) 1

(4) Rahim can be as tal] as Alj.
(4) the |

65. Identify the meaning of the phrase

62. Identifv the correct word tofill in the underlined in the sentence

blank. The teacher gave out the books.
You're wasting a lot of time watching (1) counted

TV. You ................ concentrate on (2) distributed

your studies. (3) sold

(1) ought (4) purchased

(2) must 66. I[dentify the meaning of the phrase

underlined in the sentence,

Mohan takes after his mother.

(3) will
(4) may
(1) admires

(2) dislikes

63. 'Shelikes mangoes.

If you change the sentence, into the
(3) resembles
(4)-likes

negative eorrcctly, you will get

" , r ]‘ X P .
(1) Sheion't.like mangoés. 67.  Identify the correctly-spelt word.

(2) She does not likes mangoes. 1) amrﬁodation

() She does not like mangoces. (2) accomodation
(4) She will not like mangoes. (3) acommodation

(4) accommodation
[14] W-802/TET-112-EM/UM
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68. Choose the correct word 1o fill |

69.

70.

g
=
@)

At e
it

(4) abgut . 4

the blank.
John 1s afraid
(1) to

(2) towards
(3) of

4d
Choose the correct form of the verb |
to fill in the blank.

Small boys .................. 1ce cream.
(1) are liking

(2) like

(3) Wﬂl likgd

(4) likes |

Choose the correct form of the verb
to fill in the blank.

Sarah goes everywhere by bicycle.
She ..o ... & Scooter.

(1) hasn't got N

(2) 1s not having

(3) hasno

(4) haven't got

O‘\ -

':71.

72,

73.

[

O J

Wiy the sccond person's

r("“"l”’llz-‘.v

Pope y _
Tson [+ Didn't you go shopping
yesterday?

)

l“rsnn I

(1) No, I had done.

(2) Yes, I didn't.

(3) No, I did.

(4) Yes, I did.

Choose the correct pair of words to
{ill in the blanks.

the weather good when

.....................

CYOU e on holiday?
(1) Were........... was

(2) Was....cccc.e. were

(3) Was ..o was

(4) Were .............. were

Identify the correct question to get

the answer given.
Question: ...

Answer : She has been here for
two years.

(1) How long has she been here?

(2) How long will she be here?

(3) Howlong did she live here?

(4) How long she has been here?

W-802/TET-112-EM/UM
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74. Jdentify the pa e form of 14, | 78

77.

onter (
<f ;,v‘ ¢

Cameoehody he 1 . y e
Somenody has stoien my purse

1 Mvu n ; .
(1) Mv purse had been stolen
(2) My purse have been stolen,
l"’,,- l\"!' Urse 1g «t | N
9} MY purses stolen by somebody
(4) My purse has been stolen by

somebody

Identify the word(s) to fill in the

blank. 79.

I'mverytired. I............... lie down

for an hour.

(1) am willing to
(2) can

(3) am going to

(4) need

Choose the correct word to fill in the

blank. 80.

XYZisn't anold town. ......ccceeens any

old buildings.

(1) There aren't
(2) Are there
(3)

(4)

There is no

There 1sn't

What prefix should you use to make
'honest' its opposite?

(1) Anti-

(2) Non-

(3) Un-

(4) Dis-

(16]

r
£

Identify the correct pair of words to
fill in the blanks.

rice. Buy

................ wheat

(1) some ......... some
(2) some. ......... any
(3) any .......... some
(4) any .......... any

Jack's motheris 54. His father 1s 69.

So we can compare their ages as ...

(1) Jack's parents are older than
each other. V

(2) Jack's mother is much younger
than his father.

(3) Jack's father is much older.

(4) Jack's mother is much younger.

Leela to Rita, "Please help me with

my homework".

If you report the sentence correctly,

you will get :

(1) Leelarequested Rita to help her
with her homework.

(2) Leela asked Rita to help her with
homework. ,

(3) Leela told Rita to help with the
homework.

(4) Leela ordered Rita to help her

with the homework.

W-802/TET-1 12-EM/UM
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81 to 84 : Read the following passagef ‘efully and answer the questions

given below it.

. Ch : . vde hic
Long ago. a king named Manunid® olan hyd a bell installed outside his

palace gates, to dispense justice.

How astonished he was, when one‘d&\‘ a cow pulled the cord of the bell ! He
learnt the truth through the eyewitfl‘?S ses. His son rode a chariot over her calf
killing it instantly. Manunidhi did 2" bat an eyelid.

The kihg ordered the chariot to be diven over his son !

As the entire kingdom bore witneéé F“ the sight of the young prince, who was
about to be crushed by the chariot, the gods themselves descended to eart h,
stopped Manunidhi and saved his son. The king was happy, but he was

distraught at the cow's loss. Legend goes that the cow, moved by the king's

righteousness, licked her dead calfback to life.

81. Choose the most appropriate title for | 83,  Who was the culprit in this passage?
this passage. (1) one of the courtiers
(1) The Kind King (2) the cow's master
(2) Manunidhi Cholan the Great (3) the king's son
3) A Cow sgeks Revenge ' _ (4) oneofthe soldiers
4) The Righteous Ki : : |
4) Fhe fughteous Xang 84. How did the king know about the
82. What did the king do to dispense crime?
justice? (1) Through the secret service staff }
1
(1) He stayt'ed courts of law. (2) Through the people who saw the |
(2) He installed a bell at his palace criminal act |
gates. (3) Through his ministers
(3) He saw that his subjects dig not (4) Through the cow
have any disputes. |
(4) He was a very just king,
l
P.T.O. 7] W-802/TET-112-EM/UM
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39,

78

How many syllables are there iy, the
word, 'examination'?

(1) Six
) Five

3 Three

(4) Four

One of the problems of teaching—

learning Englishis.................

(1) the lack of a conscious effort on
the part of the learner

(2) the workbook prescribed

(3) the supplementary reader

prescribed

(4) the English reader prescribed

What kind of situation can you use

to teach sentences 1n the present

continuous tense”?

(1) Situations covering events n
the village / town.

(2) Situations covering events in
the society

(3) Situations describing events at
home

(4) Classroom situations

88. We teach

89.

90.

nglish g

(1) a bilingya) subject

(2) a knowle(lge subject,

(3) askill subject,

(4) an information subject

A radio lesson helps pupils to learn

things as

.......................

(1) a multimedia aid

(2) an audio-video aid

~(3) an audio aid

 (4) avideo aid -

...............

An approach hasa

(i) sorﬁe language patterns
behind it

(2) a technique behind it

(3) a method behind it

(4) learning principle behind 1t
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95.

96.

917.

P.T.O.

1

The Hindu-Arabic number
equivalent to the Roman
numeral LXXIX is

-c‘_dﬂ/f_»q} S LXXIX sx3
(1) 61 (2) 79
3) 69 (4) 81

The number of students in 2
school is. 425. On a specific day,

if the ratio of students present 92.

in the school to the sfude_nts
absent in the school is 15 : 2,
then the number of students
present on that day is ......

SN 42505 S s
e S 15:205 850 o

ORI
(2) 395
(4) 50

(1) 375
(3) 385

Of the following fractions, the
fraction less thany and greater
than% is

Srebabte Rafuit Lys

23
W 5

11 17
@ 13 @ 57

[19]

93.

pag? - IV
MATHENATICS

[91. If Raheem purchased 5 kg 250 ¢

of potatoes, 2 kg 500 g of brinjal
and 250 g of chillis, then the total
weight of all the vegetables in kg

18

oS 500058 24701/ 250008 52,

J}Ku:/(/.—./"é-r».‘.j@/ﬂ/QSOJﬂd?

(u:r'/(){)(nub

(1) 6 2) 9

3) 7 (4) 8

If a rectangular shapedcardboard

is rotated along its length as an

axis, then the shape formed is a..,

(1) sphere (2) cylinder

(3) cone (4) circle

L VALH L ik &L
_J”UI;Z:-

i (1

s (4 bif (3
If 50% of 50% of a number is 50,
then the number is ...........

(2

sk 50 '50%K 50%L s fif]
(1) 400 () 300
(3) 200 (4 100

94. The length of a rope is8: m. If it

1s cut into 7 equal parts, then the

length of each piece of the rope in
meters is

u,bd,u%ﬁrﬁ_;‘, 8% Ubgsdl
(LRIt o L i L6

) @ -

[N R EVERV-N T
o | =

3) (4
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102.If the fractions %,%, %,

pooklet

John wants to exchange hj,4
rectangular plot for a squape
plot of the same area. If the
dimensions of the rectangulgy
plot are 80 m X 20 m, then the
gside of the square plot he

receives (In m) 18
PRy ST 72O T N
ol & wty (& Sn e 3 ¥ S
LG s Isn 80 mx 20 m

.......

(W S S
(1) 50 (2) 30
@ 20 (4) 40

g are

arranged in ascending order,
then their order will be

Z.ig(dﬂﬂ.,é/‘d»"‘;(}z’%’%:%//l
S
5 5 31 :
D 5612
1 55 3
@ 7537
1 5 3 5
® 7816
1 33 5
@ 77%%

98. If all factorg (divisors) of 128 are

9.

@3 32

3) 8

arranged in the ascending order,
then the gixth divisor is

und & V7 m4,1210 0L 1281

-b’ni.’l.‘{..;
(1) 128  (2) 64

(4) 16

The maximum number of points

of intersection of a circle and a
triangle is 'm' and the maximum

~number of points of intersection

of two triangles is 'n'. Then the

value of m + n is
Gb Ghnlic u}]ﬁ w.,pm a/’b;ﬁ/f
bEnlie u&jﬁ c«.ﬁf’»u@. 'm's d/

............

, -Jﬁu}u( m+n~,}’4‘-'n':1ﬂu( 1]
1 12 (2) 10 .
4 6

100. If the average of four numbers is

16 and the average of five other
numbers is 25, then the average

of all numbers together is

J,,,!K;wtég o mnle 16»:%'/"/?/'

.........

Erbalblule e 25
(1) 41 @) 21
@ 205 (@9

W-802/TET-112-EM/UM
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106. The number of lines of symmetry
for a square is.............

R PN e
1) 4 @) 3
3) 2 4 1

107. The number of trees that can be
planted along a road of length 10
km, when the distance betweel
two trees is to be 200 ms....... |

) Ju')";ﬂé Lﬁ:)ﬂj/"f)g 104 ».f}'vg
¥ Q’U;.L'b £+ 200y L/‘JJL u};ﬂuﬂﬁﬂl;’
(1) 20
(2) 500
3) 50
4 51

108.If 999999 is divided by 99, then
the quotient is

L L Ve 99/999999.]
| e
(1) 11011 (2) 10110

103.The difference between the place
valueg of digit '2'
32512 is
~9J)Ku;/ﬁdw»J2/kgﬂr’2a 1254
(1) 1899 (2) 1998
(3)7°1988  (4) 1989

in the number

...............

104, The weight of two boxes together
is 52 kg. If one box weighs 25
kg, then the weight of the other
box (in kg) 18 ..cceecveveenn

o)) K,)‘_,g//i-.;. (! ;{52 Sis K U5

o, (Vi owinel FE 2%

OV/ 69 391
O 5 @ 5
35 103
@ 15 @ 75
\
f

105. If Rajani bought a radio for Rs.
500 and sold it for Rs. 450, then
the loss obtained by her in |

percentage 1is

3) 111 . (4) 10101 N 1
() wg. il QaUte 250044 LGS |
109. If 11 books cost Rs. 121.55, then UWU”L‘"J%%—G/&J/J%’AW "‘j
the price of each book in Rsg. ' el 1
18.iiiinnns 1) 20 @ 5 ;
e 1215522 du 1| @ 15 (@) 10
(Lugddned ]
1) 11.05 (2) 10.05 {g
3) 125  (4) 11.5 g
pr.0. ! 1) W-802/TET-112-EM/UM
: r
\ 2 €9
5
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112. Raju 1s older than Ravi by ¢p,
year minus one day. If Raju wqg
born on 1Ist January, 2012 they,
the date of birth of Ravi is
(1) 2" January, 2011
(2) 31°% December, 2011
(3) 2" January, 2013
(4) 31 December, 2012

. j,}”?/f/rflz/ﬁ_/"_iz‘.{w.«gc,dvvgc,du}m
e Al e Sudntniag 2012

20114222 (1
20114431 (2
2013422 (3

2012331 (4
113.A bar graph.is drawn to the
scale 1 ecm = 10 units. The

length of the bar representing a

quantity of 52 units (in cms) 1S...
S U610 = £13k Yy
)b L &S S U152 18

(o

......

6.2
10.4

@) 5.2
(4) 3.2

1)
(3)

114.0f the following numbers, the
number containing factors only
1, and itself is

Il S Posans Sl L
(1) 39 (2) 49
3) 59 (4) 69

[22]

110. Out of 500 pages of 4 hook AT

read. The number of pages atil] to
be read is

..........

S Ly o § KL= 64500

e Qoo
(1) 200
2) 100
(3) 400
(4) 300

111. The angle formed between the
hands of a clock, when it shows
- the time 4 o'clock is a/an ..............
(1) obtuse angle
(2) right angle
(3) reflex angle
(4) acute angle
LB A en L UKL SE ]
-- | s
d,lj,?/.“.’. (1
4G (2
@
(4

Ul

,d’ljb)b

W-802/TET-1 12-EM/UM
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o s /’b’f‘¢.ffyl;rb’/‘ _l
Lo pdk g (1
Ut Uik ot 5 § Iy (9
2Lz,
LLz oS wseidtn 3
2L bt

117. The book, 'Spirit of Geometry'

wag written by the
Mathematician, ........

(1)  George Cantor

(2) Blaise Pascal

(3) René Descartes

(4) Euchd

LU YTl
/}‘{L/b (1
Fit @

ALY, e{

Wy (4

P.T.0.

(23]

METHOI’/O"“”Y

119-The cloged figure of the highest
Hrev ¢ . u
rea among the following figures

of the same perimeter is a

(1) circle

(2) triangle

(3) rectangle

(4) square

Sz P Gamlic vl f L s
e Gl
o/ (1
e (2
SNC
&y (4

116. The purpose of conducting a

diagnostic test on a pupil

(1) to know the innate abilities
of the pupil

(2) to know the strengths and
weaknesses of the pupil in
the content

(3) to know the behavioral
changes of the pupil

(4) to know the achievement

level of the pupil

W-802/TET-112-EM/UM
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120. The formula for finding the area
of a triangle using the side
measurements was given by.......
(1) Heron
(2) George Cantor
(3) René Descartes
(4) Euclid
(L./ffﬁ’}/ Cadsn5 L .‘;L‘g‘L_;, JCW!

4;2..(_};‘;’,&.)&

s (1
e (2
L35, (3

L8y (4

(241

= 1 R
118. "Two similar segments of a circle

are in the ratio of squares of

their chords'” This was proposed

by the following school.

(1) Plato school

(2) Sophist school

(3) Pythagorean school

(4) Ayonic school

uﬂ/éuﬁ},éuté,qu‘»éu’b..g”

-gu?-L//AutL‘J_s‘Ungwo?J
\ ,./ud)bﬂs‘ (1
,./un_"«jf (2
ol 3
snkyT (4

119.If the pupil makes mathematical
models, diagrams and charts,
then this specification comes
‘under the objective OF wiveeeeerecenns
(1) application
(2) appreciaﬁon
(3) interest

(4) skill

W*802/’I‘ET-112-EM/UM
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128. This 18 a submerged :Ul‘“”“‘

plant.
(1) Pistia
(?)  Water Lily

(3)  Vallisneria

(4) Lotus
. 1 1T by ’f'
,%,-;L}nm,wm.

g @
L i’!'w (3

J (4

124.Vital functions of our body such| 129,

as heartbeat, respiration etc. ar
under the control of the .......
(1) medulla oblongata
(2) spinal cord
(3) cerebellum
(4) cerebrum
PSS L e
Y278
J e a
SEE (@
& @3
bz (4

P.T.O. [25]

I‘;\“ﬂ\‘_

\Y,
\ll

£ ) 121,

STUDkS
o fipe aecudent.

the ontiye nkin

" muscloy of o Person arg

‘l-'lm}lﬂ(‘(l‘ The by &

(h
(2)

are ealled..
ordmary hurng

irst. degree burns
) second degroe burng
() third degree burns
p ..;Q ; _
Ly A"U’d d S bl 3l L ST
.ij."__l‘-:’.,:_:l."::q_,gi.lgﬁals’t
t‘ﬁ'{;/""d""‘ (1
Ll“b/d /30%: (2
LS @
LS4 @
'he chemical equation relating to

the Clark's method for removal of

water hardness is ...
L}" L/’m:@; ot L d‘l: = .E_l)’u'glb/
el

(1y Ca(HCO), v Na,CO,
CaCO, +2Na [1CO,

(2). Ca(HCO,), + Ca(OH), o
2CaC0, + 2 H,0)

@ Ca(HCO,), ——>2CaC0, +
9H,0

) (,‘q(l-l(_.‘()s() —— CaCO, +

o

H,0+CO,"

W-802/TET-112-EM/UM
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- 128.The emperor Akbar divided hig
kingdom 1into
(1) Ikta (2) Mandal
(3) Suba (4) Mukti

-’gﬁ/..‘mui Bt RS

Ji (2 £ a
5 (3

129. The imaginary lines which
connect the north and the south

pole is called

..............

(1) equator
(2) orbit
(3) longitudes
(4) latitudes
o Bind By A L
L@ B
S/ COD

130. The 'Grand Ofd Man of India'

(1) Gandhiji

(2) B. G. Tilak

(3) Dadabhai Naoroji
(4) C.R. Das '

- "Grand Old Man of India"
Gu¢
Lsd @
Gsrduints (3
m,ﬂ_g (4

125. This country is called 'Land of
Rising Sun',

(1) Japan (2) England
(3) France (4) China

& bl S DI L

H#oe  ue
@ S e

126. The height of Mount Everest
1S..cco. ’
(1) 8,884 meters
(2) 8,888 meters
(8) 4,888 meters
(4) 8,848 meters

-‘LJB:}'JUJ!"JJL
JH8,884 (1
U< 8,888 (2
U~ 4,888 (3
. ~
UK 8,848 (4
127. The title of Rajendra Chola was...
(1) Nagari Konda
(2) Gangai Konda
(38) Maligai Konda
(4) Purai Konda
e B
g @
i @ —
L (3
PAC

W-802/TET-1 12-EM/UM
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131

.The 1i
S e literacy
134. The early man first used thi€ : ©3

a 4
rate of Andhrg

Pradesh as per 2001

5 L4 cens 3 «
weapon to hunt animals. Nsus was.,

(1) arrow  (2) sword c/;KV:"’{’/"'T"*594:‘\5/;0/'&/2001
3 4) s Cuis
3 gun (4) jtone . e Sarp
e B Ll ek edTUE () 6111 (2) 89.00
_yub,;,,g-jji (3) 74.72  (4) 68.22
A (2 £ @ g . .
] 2. Theé person who fought against
A 4 Daz (3 the social evil, 'Sati' was..............
135.The meetings of the Rajy? (1) Gopal Krishna Gokhale
Sabha are presided over by the (2) Subhash Chandra Bose
(1) Speaker _ (3) Raja Rammohan Roy
(2) President (4) Jagadish Chandra Bose

(3) Vice President
(4) Prime Minister g fool

> r.& /¢ { 1

L S e dabsdis

Al (2

_dﬂé[ﬂdﬁé‘é/’éu&?.&u)’u‘?p}

st (2 TG
»V ) A ‘ o ‘}/ ’ ; 3
,r‘y’./h (4 it (3 Sl (
Syl (4
133.The way of life that gives

136. The first novelist in Kannad . .
- importance to traditions 1s..........

WAS ceeeeiecnnenns
(1) Nemi Chandra - (1) sculpture
(2) Hema Chandra _ (2) arts
(3) Prem Chandra (3) culture
(4) Jaya Chandra (4) literature o
Q/%JJCWKuL-d/{ _Q&Jw‘fuﬁwﬁd})}/’u
= e YUV T )
. A
ez s= (1 1% (
2T @2
'/);;L‘:; é | (
ot (3
‘Jﬁ?,ﬁ:{ (3 oA\
- (4
Bz A
Fro [27] W-802/TET-112-EM/UM
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189. These nutrients are mainly 187. According to movement, the joint

useful to us for health and present in our knee ig
(1) hinge joint

(2) pivot joint
(3) shiding joint

...........

proper functioning of our body

and also protect us from

. diseases.
(1) Fats (4) immovable joint
(2) Vitamins «95‘2(&’;;?:&&/&;/7
(3) Proteins y
U5 (1
(4) Carbohydrates J (
28 (2

/Jlgfﬂal'ﬁv}&)iécf"d/hc‘-é—ﬂg |
Ui e s ISP e
.,gAa‘J‘."_‘c; "

sl &% (3
il btz (4

vkg (1 138. When a boy is playing cricket

g @ - with his friends, his respiration

u;:”/ 3 rate per minute 18 .............. )
*

(1) wvaries from 8 to 18 times
@) constantly 18 times
(3) more than 18 times

(,)":Jﬁﬂ)&{ 4
140. When a person opens the

electric circuit, the current flow

(1) vary
(2) decrease

(3) 1increase

(4) less than 18 times
PRI AL Ui gt
-?-&(}Z/;‘th.‘; i
'VJ:'L*#ISG_S .(1 \

(4) stop
A . HiPe18 (2
dx./f_u/_*//bf}fuf;ug.,z / (
J( /)u’ 3l i 18 (3
YA D,
¥ H:-,..wls (4
§ e
RIMANE
i (4
(28] W-802/TET-112-EM/UM



@ Booklet

143.The suspended particulat?
matter (SPM) in the air due 10
pollution is ...
(1) lead and soot
(2) water vapour
(3) nitric oxide

(4) sulphur 'd’ioxide
L&c..g)Jd:ﬂTLﬂm;;Ld:ZOw!
gLy
Ll (1
LT (@2
T 8
RSN NV

N

i

144. A person is wanting to measure
in the tyres of

the air press
his yehicles
_ useﬁﬁ‘ for it is

.................

(2) Deflection magnetometer
(3) Sphygmomanometer
(4) Cistern barometer

Fe Gl meum L6874
_9poi’84£%%§,uktf
LAde (1
e
Kb (s
LA (4

P.T.O.

he instrument|

M1 When we observe the
Datura flower, the gw
over the pedicel ig

(1) Placents

partg of g
ollen part

(2) Androecium

(3) Thalamug

(4) Gynaeceum

A LS Ui L i
-c‘:,t‘llzv(ﬂbln U;";Q;lﬁd}ﬁ

&

+ (
)
~f (3

2l (4

142. The bud, located at the tip of the
stem is called
(1) lateral bud
(2) apical bud
(3) leaf bud
(4) axillary bud
-§.alkf§.8n)£r{;f£<./£2.22f
e
dov
1C
S @

[29]
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.
E

pafedevsiiaraif g g

b Sk ~Fenbps
=/ (1
oWl (2
& (3
=k 4

147.'The knowledge of temperature,\

pressure and humidity helpsg in
understanding the climate of 4
region.' This statement refers ¢,
correlation between the subjects,.
(1) Science énd Fine arts

(2) Science and Crafts

(3) Science and Geography

(4) Science and History

UL lors T LPJg)}AULJuJV
G L a:w(uut,.,-;_ E a0k gﬂc‘.’{/
et

ST
UM (2
S (3
Gt (4

145. T h e main Purpose of

Re(‘.ﬂpitulation' during the

teaChing—learning process

(1) to report to the headmaster
about the standards of
students

(2) to start remedial classes

(3) to categorize weak and strong
students in a subject

(4) to know the achievement of

teaching objectives

-¢wﬂ%;ud¢»£fdww,
J(/LM gﬂc.ztéubbfdbgn}’ (1

: (2
t/dxf.a//'&l)@; IS (3
Bl (4
146.'A student is able to give
exaﬁs for the concepts learnt

in

lassroom.' This statement
refers to the following objective.
(1) Skill

(2) Application

(3) Understanding

(4) Knowledge

130 W-802/TET-112-EM/UM
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(48.The selection of a method of

150. The learning experience at the teaching depends on the ........

bot()otn Of th(‘ Edgar Dﬂ]e Cone Of (1) teaCher

(2) timings of the period of
experience are

"""""""" teaching
(1) direct purpogeful | (3) medium of instruction
. (4) topic
experiences .. .
e ST S
(2) field trips % ‘
: , ¢!
(3) exhibits : ‘ZLJ’ i
oY IL 2 ) b (2
(4) verbal symbols ’
. > gl .( /:U' 3
SRR A AN YY) 2/380% (
o, F0U1 S
2l e, (1 |
- W @ 149. A book on 'The Story of Earth'
,U;,'d;x'(, : > & Jjb’u".“fv @3 belongs to the following category
) ol . of books in a school library.
% : (4 1) referenge })ooks
" { (2) supplementary books
(3) background books
= " (4) prescribed textbooks
. d‘;U:d{/{U(}:«MJwK“&QJ/JwJ’;"
e U Uil

A Bt (1
-Ufo/g,(;lu:/d// (2
ARl 3
S Gmnatsb (4

P.T.0.
[31] - W-802/TET-112.EM/UM



BOOKLET
o Total no. of Printed Pdgps 40

Hall Ticket No. ’."-'»"1.,& Signatureof Invigilator 45, ¢ s f

£k \\\g\o;,eo@j/ —_—-M__k‘
TET-112-EM/UM |

Time : 2 Hours 30 Minutes Max. Marks :150
oo 30 9. 150: =t 41

Instructions to thecandidate:
: .-,g,,;-fu:/,-g
1. Write your Hall Ticket Number in the box provided at the left side of the booklet
immediately after receiving the Test Booklet.
-&Vu‘u ;./L,Jl/JJLK_«’M biz_a./g el L 1
2. Check whether the Test Booklet contains as many pages as are printed on the top
of this page.
_é./_é.’_.)u;‘f:,@”)ﬁ/ S L sl d/.'_'): j’ij;{,-‘ 2
3. Check whether all the pages are printed in sequence properly. Do not ren.Jove
any page from the Test Booklet.
Die LA E Gldn e oE fad 3
4. Indicate your answers in the given OMR answer sheet only. Read the
instructions given on both sides of the OMR answer sheet and follow accordingly.

Do not write the answers in the Test Booklet.
.,;Lgu,i,-;L:/ 472 OMR é(ﬁﬂVJuUILV'JJJQ’i OMR ¢ c‘.(.‘ 4
-d”g:/.:«l}i.‘ﬁ_)_{v)-éuw/_ J "/ 73 _/U/- ;f,',
This Test Booklet consists of 150 multiple choice questi(.)ns. Aﬂsxver all the
questions. Each question carries one (1) mark only.

_a/iLJ‘f/-i:.;U)’L-«U’YfV-gJ‘//uU'lei"/" 150 -/.w~

-C-//UV (1) -'g
6. Do not do any rough work in the Test Booklet. Use only the white paper
provided at the end of the question booklet for rough work.
S S NLLIIL L Sk P 8
% After completion of the examination, hand-gver the OMR answer sheet to the
Hall Superintendent without fail.

O

ST

P

-/({L'YL-/M/.Jvc_,’[_,/ 7 OMR 2L U2 J.,f‘ o
8. Candidate will not be permitted v leave the ¢ examination hall till the
completion of the stipulated examin®ion tim e

},‘-/./,L’J(._/)—”)J uu-ﬁ l,A/i/vV _::u’.;z.‘?‘:/// '8

1] TET-112-EM/UM



BOOKLET

PART.]

CHILD DEVELOPMENT AND PEDAGOGY

3. Symbolic and Ego-centric thinking | 1.

are the major characteristicsof ...

Identify the correct statement with
regard to the growth and

(1 Concrete operational stage development.
(1) Growth is the part of
(2) Sensori motor stage
v development.
() Pre-operational stage (2) Growth starts from conception
@) Formal-operational stage and continuestill death.
A 'cf'.; »JGy) ,0'//:,_—' ¢/ ,vs‘g,? % 3 (3) Development starts from
L birth and stops at certain age.
aber® (4)  Developmentand growth are
s A2 (1) no way related to each other.
(o , JUW{LJ”LJ/Q@&/V)P N |
21207 (2) -
ke ¥ BEASET
2256 @ T
, -¢t'n;0..f'w/,«2[,/ W) ar
2o, @ ‘ " o
=l ¥ 4

4. The unfolding of biologically
inherited potentialitiesasa

~e LSl KBSl f

Sl b L FEL 2 4

3 e A N

function of time or in an age related
sequenceiscalled......

(1) Maturation
(2) Progress

(3) Development
(4) Growth

-8y
& 1),
Ky,

=M
/ (4)

(2]

t‘ﬁCﬁ/‘ch’ngﬁQ@
cFeLip FU L
F )
EE P pfic s )

@)

(4)

2. No autonomy is granted under

this child rearing practice.

(1)  Uninvolved
(2)  Autocratic
(3)  Authoritative
(4)  Permissive
fd/@))’u/u:gfié J/)‘;L U5
-l g ‘_f:} I

Sl G 2)

SU (@)

o JE S (1)

v (3)
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7. Accordingt
“pbservati
(D Sequencing
(2) Structuring
(3)  Shaping
(4)  Modelling

0 Bﬂndura,

. .
onal learning 15.....

c_y{jﬁ&%b’u[}’ﬂ:fﬁluh

oMy A (D)
caisbe  (2)
¢ / = (3) <
el @*
8. If a student is given reward for

every correct response for every five

minutes, the reinforcement

scheduleis.....
(1) Fixed Ratio
(2) Variable

(3) Continuous

(4) Fixed Interval

I gyl P e
-§.J’J 1ru;J K7 <Ol

o
DA
J,l/

Bos

(1)
(2)
(3)

A
(4)

l7

[3]

5. “Mnemonics” are used in
improving.....
(1) Understanding
(2) Memory
(3) Intelligence
(4) Creativity

Mnemonics 2L C’/ ZJ! i
g LSS (5igse)

Pid

~ Q)

Bb (2
=i (3)

=17 (4)

One of the following need to be

considered for organisinglearner

centricteachinglearning process.

(D
(2)
3
4

Study habits
Achievement motivation
Individual differences
Only aptitude

VL TSP of (S0 S
-ﬁ‘-—(}ﬂaz:ﬁ(}/é/}j,bé.{(li‘:"ﬁ

Sl (1)
N fd”j (2)
ST L )
JEas (4)
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L. Oneofthe merits of organising
learnimg in heterogenous ability
groupsias ...

O High ability group benefit
and low ability group sutter.

Q) Both high and low ability
groupssuiler,
3) Both high and low ability
groups benefit.
Ty Low ability group benefit
and high ability group suffer.
AR Lo 21

-.‘_\};‘_Lf'd".‘;. S

2

- |
y o ‘Qj:" ‘l._- “’v h‘,_.l‘vv‘,": lL“ub' (1)
- a8, - 1)
o e PRSI 4 1 ¥
- Qe | 2 - “; e .
it XA N L lvgr',s'J"g,‘!’,-,\ (2)
l. |
lag 1a-¥ (2 'Qq_\:\!'/nk’\' (:%
- - ]
iy d
ll S l (4)

12. NCF-2005 suggested to shift
learning within the four walls of the
classroom to this....

(1) Grade orientedlearning.

2) Learningrelated to
monetary gains.

3) Learningin the wider
society context.

(4) Learning is based on books,

c2e# - 2005-NCF .12

S -’,.Ia P
[P

LI g () U S A el
g .

s T

- gf;‘,,"' JL{,:...@’{/'{}/%L&LZ

I LS @
;q.‘ﬁ’ﬁtd’we’cﬁw (2)
S L 3,

Ui s LT (g

. As per the RTE Act, 2009 a school
with classes I to V shall have Head
Teacher, if the student’s strength of
the school is......

(1 125 - 149
(2) 150 & above
3 75 - 99

(4) 100 - 124

~sallbr L LI RTE £ 2009 .9
J ’/’&'y:u‘uuu"ﬁ&LZI-V VL

AGF WSS e
149 < 125 (1)
ol e 150 (2%
NV 75 (3)
124 <« 100 (4)

10. In P.W.D. Act, 1995 the term
‘P.W.D.’ standsfor ..... _
(1) Personswith Difficulty.
(2) Persons with Disability.
(3)  Population with Disability.
(4) / Population with

Disadvantages.

SP.W.D. S PW.D. 1995 .10

_cI_iLJ’LUb"I

FLL =gl (1)

ALl i}l )~

AL i A (3)

ALl =t @
TET-112-EM/UM
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If you were @ primary school

14.
teacher, you would try to nurture
creativity among...
(1)  childrenwith high
achievementonly.
(2) obedient childrenonly.
(3)  allchildren.
(4) intelligent children only.
ST LIFS A1 TN 14
JA,W,_,UI,/,/ (e 7h) calalas
e L g/ S
LIRSV (EVRGY
JEUEN ALY (2)
JUReR (B
SRS (4)
15. Theterm ‘neonate’ refersto.....
(1) Two year old child
(2) Baby in mother’s womb
(3) New born child
(4)  Oneyear old child
--’-"-L}//ZWCW'»’:’J] (neonate) .15
s (1)
s (2)
,fa/_;*‘l:" (3/)*- °
gL

13. Match thefollowing.
A B
1. Dyslexia a. Difficultyin
mathematics.
2. Dyscalculia b. Difficulty with
fine motor skills.
3. Dysgraphia c¢. Difficultyin
reading.
4. Dyspraxia d. Difficulty with
writing.
(1) l-¢, 2-d, 3-a, 4-b
(2) l-a, 2-¢, 3-b, 4-d |
A ) l-¢, 2-a, 3-d, 4-b/
(4) l-a, 2-b, 3-c¢, 4-d
CENT 2 () S MO
B A
...«LK"‘/U:U:‘LJ .a Dyslexia .1
HLL‘U:U;JVJ] b Dyscalculia .2
O] LN LI e Dysgraphia .3
O £ J:;f .d  Dyspraxia .4
(1) 1-¢, 2-d, 3-a, 4-b
(2) l-a, 2-¢, 3-b, 4-d
(3) l-¢, 2-a, 3-d, 4-b
(4) l-a, 2-b, 3-c¢, 4-d
o}

TET-112-EM/UM



BOOKLET

18. “Rewardscanbean effective tool to

enhance achievement ™. 1t

indicates this type of motivation.

(1) Natural

(2)  Intrinsic

(3)  Extrinsic

(4)  Achievement

SNbosls K e o 1
,‘at/gﬁwl.:‘d/ffifj

SA Q)
Fi @
L;-Jl‘:?. (3X
@
19.  Ramu hasdropped out from the

school due to unpleasant school

experiences. Thisisanillustration

of the following law.
(1)  Lawofregression
(2)  Lawofspontaneousrecovery
(3)  Lawofextinction
(4)  Lawofeffect:
a_gjd/;«lj;z’}é;’téa_u »19
JC}}.'G'J_J'-_»‘R:/‘LL‘()T/J.&J/-
-c‘_JC'?‘
=2 (1)
SULSALZEUIE (@)
Sosirdd6 (8)
ULl € Wi
[6]

One of the following do not
facilitate maximum transfer of
learning.

QD By learning principles, rules
and generalisations.

(2)  Bylearningthrough rote
memorisation.

(3)  Linkingthe present with
past learning.

Linking the present with life
experiences.

-,

@

4)

17.  Studentsformulate hypothesis, test
hypothesisand draw conclusions in
thismethod.

(1) Lecturemethod
(2) Group Discussion
(3)  Inquirymethod
4) Activity method
S/ E s, f"ﬁ\f&v'ﬁ; AU AT
LA VS SN S IP
2SS (2
3 A5 3
30 (A
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Tostudythe developmental
patterns of the primary school
children,a pSychologlst has choosen,
the students of classes1to V of a

According to Erickson, the period of

adolescence is marked with thig

-

L e '1"‘ ” " :';,x/ (S
e JooUMe AE WS Y 21

crisis ...
mandal and conducted the study in D Inti -, .
ayear. Theresearch method tmacy Vslsolation
adopted by the psychologistis ... (2)  Identity Vs Role confusion
(1) Developmental study (3)  Initiative Vs Guilt
(2)  Casestudy
(3)  Crosssectional study (4)  Trust VsMistrust
. 3 % - 'd
(4) ) Longxtudma]study/ e #36L (o)) Erickson .20
(oSS ASE LIFIS /1, 22 |
-gﬂ‘vt‘gc’u" LAOANIY 1
Luk‘u(' UJ/LCJ—LA—/)‘W ) T
s HeAE (D)
WAL S B LUz 1V ,
- ‘ ’ -“"'u/',‘/ M3 (X
~~~ »y » (%7 .
(Qf{uc_t/(dr') SIS .5 L= A,
‘ . el S PV )
W el R s A . .
£ ASW MO AR (4)
Sekdal (1)
by / «
SaIs (2) | 21.  The story of ‘fox and sour grapes’ s
."UVQ;CJ‘/( (3) ; an example of
le/(dpﬂl)vc;,f__@ (4. 3 (1) Repression
i ,
{ ‘ 3 !'\' .,
23.  Accordingto Kohlberg, child’s ; (4 Regreesion
morality is controlled by the ‘fear of | (3)  Rationalization
punishment’ at this stage ... i (4) Reaction formation
(1) Stage 3 l
(2) Stage 4
(3)  Stagel
(4) Stage 2 v
JIWL .ru- 42y ;va“:_,‘/’é’( .23
Wi e e D |
pi»;-f,b’ @ L W
?/ : by
Pl @D R
(7]

N (1)
=*, (2)

W F X3
v:_/- ;/J; o (4)
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26.  Cephalocaudal development
indicates that the development
proceeds from.....

(1) Umbilic to head

(2)

3)

(4)

S < & ys P J/ 4L Cephalocaudal
e sl P

(1
(2)

Toe to umbilic
Head to toe

Centre to other parts

..f/c...ﬁb

Lot 25
FE AL e ~
.«EU}‘”G/;)L/?(},V/; 4)
27.
following theoty.

(1)

(2)

(3)

(4)

e B UL,
:fjdw&'ﬁ'"‘”
H ST 56
FufSE (3
Auoed )

(1)
(2)

@

26

Programmed learningis based on

Observational learning theory.
Trial and Error learning theory.
Classical conditioning theory.

Operant conditioning theory,

27

24,

25.

[8]

Learningisa process of bringing
relatively permanent changesin

behaviour through .....

(1) Growth

(2)  Memory

(3)  Experience
(4)  Maturation -

d’JLT.‘{J/}L ..... J.f/’)/b/l;ﬂ
e d e

.24

W) ¥ ()
L6 (2)
A )
F @

According to Vygotsky, the aim of

private speech is for the .....

ey Ego-centricdevelopment of
children.
(2) Self-guidance of children.
3 Selfrealization of children.
(4) Direction of parents to
children.
S o £ 568 25
e U 2L J!
S pestus (D
AEIALAN \
RN L)

t ):,;'4/Uf.;b/c[,d’5 4)
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29.  Asper NCF-2005, medium of 28. Oneof the following isnot a

\arning in schoolsis ...
fearning I = purpose of formative assessment.
n English
(1) Feedback to the parents
(@)  Hindi/Sanskrit

about their children’s "
3) Home language n's studies.

(4)  Multilingual (2)  Certification of completion
DA e a0 Z NCF-2005 .29 of a course of study.
J (3) Feedback to the learners
acs
about their participation,
S2A W
understandingetc.

(4) Feedback tothe teachers

about their teaching.
WY @ e eed® [ 28

Zdbyduslodas )
30. IfMA = CA, thenthel.Q.is... QLG
< 1QsMA=CAS .30 U SU ALl o
=y : i

120 (1) i
L(Zﬂ /,'J/‘Juu?& (3

90 (2 .
db G
100 @ .
AL RS @
110 (4) .
Q}’V"\/z
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PART - 111
ENGLISH (Language - II)

Surprisingly, even a amall amount
of excesas food can make one put on
weight. It is a matter of simple
arithmetic movemnent and exercise take
off weight. If the ealories coming in by
way of foodd are in excess of the calories
goang out by way of movemnent and
exercise, the calories become stored in
rur body as fat; and obesity beging.
Even if a little excess mounts up and in
the course of time the result i
substantial overweight.

Ohesity ix also a matter of one’s
juck and metabolism. Some people eat
and drink enormous quantities of
calories and yet never put on weight,
Their bodies seem to burn up these
calories. Yet, there are other people,
unfortunately the majority, who, even if
they eat 2 Jittle excess food, have an
increase in weight,

No matter how hard you eXercise,
you will never hring down your weight,
substantially by exercising alone. You
must jog for a mile or walk hard for
four miles to be able to eliminate the
effect of only one slice of bread. Thig
gives you an idea of what little effeet
‘:Z‘j’r(;i,*,f: can have for bringing down
weight,

TET-112-EM/UM

[16]

61-65. Read the passage carefully.

Being overweight is perhaps the
biggest single health problem among
middle-income groups all over the
world. On an average, over 50 percent
of the adults in the developed countries
of the world are overweight.

There is a close relationship
between the amount of food eaten,
specially starchy, sugary and fatty food,
and obesity. Being overweight is not
normally a question of glands or
heredity. It is almost entirely a question
of eating too much of the wrong type of
food.

Obesity begins from the time one
is a baby. Most parents love a fat
chubby baby, with the result that they
grossly overfeed their children. So the
risk of a coronary attack begins from
childhood. The chubby child whom
many parents are so proud of, becomes
4 heart case later on in his life. The
eating habits formed in childhood
continue for the rest of one’s life, with
the result that by the time the infant
has reached the age of 15, he is well on
the way to having a weight problem
when he becomes an adult,



64. Which of the following statementg

65.

TET-112-EM/UM

is true ?
(1) Only the people of developeq
countries are overweight.

(2) The biggest health problem
that the middle-income
groups perhaps face is being
overweight.

(3) Only the people of middle-
income group suffer from
obesity.

(4) About 50% of the middle-
income group are
overweight.

Most parents over-feed their
children because .... '

(1) they want to protect their
children from the risk of
heart attacks.

(2)

they want to be more caring.
(3) they want their children to
be healthy.

they want their children ito

(4)
" be chubby.

i
¢

BOOKLET @

Now answer the fol!owing

questions choosing the right options.

61. The calories become stored in our

62.

63.

[17]

body as fat when ....
(1)

a small amount of excess
food is eliminated from oyp

body.

movement and exercige are
more.

(2)

(3)

intake calories are more
than the outgoing calories.

4)

outgoing calories are more
than the intake calories.

Who are lucky according to the

passage ?

(1) Those who eat well but do
not put on weight.

Those whose bodies do not
burn up calories.

Those who eat little but put
on weight.

(2)
(3)

(4) Those who eat excess and

put on weight.

The only way in which one can
reduce weight effectively is ....

(1)  to jog for a mile weekly once.

(2) to jog / walk briskly
everyday.

(3)

(4)

to control one’s food alone.

by exercise alone.



W

68.

69.

TET-112-EM/UM

The detective story engrossed the

readers all the way to the surprise

ending. The underlined word

means ....

(1) encouraged to read the
whole story.

(2) divided attention.

(3) caused excitement due toO
suspense in the story.

(4) created interest in such a
manner that you forget
yourself.

Read the following jumbled

sentences, P Q, R, S & T.

(P) “I have something to tell
you,” said the Rabbit.

(Q) A Whale swam over to see
who was calling her and
looked around.

(R) “You are too small and weak
to say anything to me,” said
the Whale and set off back
into the ocean.

(S) After a few minutes, she saw
a tiny Rabbit jumping up

: and down on a cliff.

(T) “Rabbit, did you just call me
over here ?” said the Whale
impatiently.

Now identify the right order

of the sentences to make a

meaningful paragraph.

() T.S,QRP

2 T.QS,BRT

3 QTS BR

4) QS TER

66.

67.

[18]
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Identify the sentence in which the
order of the adjectives is correct.

(1) Mrs. Lalita has 8 huge
d black leather bag.

good

roun

Lalita has a round

2) Mrs.
@ bag.

black huge good leather

(3) Mrs. Lalita has a good huge
black round ]Jeather bag.

(4) Mrs. Lalita has a good huge
round black leather bag.

He was negligent and therefore
the company suffered heavy

losses.

The sentence can also be
written as .....

(1) Though he was negligent,
the company suffered heavy
losses.

(2) On account of his negligence,

the company suffered heavy
losses.

(3) He
company
losses.

being negligent, the
suffered heavy

(4) Inspite of his negligenée, the
company suffered heavy
losses.




73.

74.

(@) The students have
knowledge about maths.

b}

(d)  This sgum from Chapter If i
very difficult.
The underlined words in th
sentences (a) and (b) are called

-----

(1)  Homophones
(2) Homonyms
(3)  Acronyms

(4) Allophones

Read the following sentences
carefully. Identify the students, in
order starting with the student
who walks to school most often.

(@) Murthy usually walks to
school. He often goes on a

cycle.

(b) Jayaraj never walks to
school. He lives very far
away.

(c) Satya always walks to
school.

(d) Venkat sometimes walks to
school.

(1) Venkat, Satya, Murthy,
Jayaraj.

(2) dJayaraj, Murthy, Venkat,
Satya.

(3) Satya, Murthy, Venkat,
Jayaraj.

(4) Murthy, Venkat, Jayaraj,
Satya.
TET-112-EM/UM
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70.

71.

72.

BOOKLET B

Ram says to Sita, “I like laddyg »

The reported form of the above
gentence is ...

(1) Ram said to Sita that he
would like laddus,

(2)  Ram tells Sita that he likes
laddus.

(3) Ram told Sita that he will
like laddus.

(4)  Ram said Sita that he likeg
laddus.

The number of voiceless sounds
present  in  the

word,
“Pronunciation” is .....

(1) four
(2) five
(3) two
(4) three

The technique of ‘scanning’ is
used while .....

(1) reading the title to
anticipate the content of the
article.

(2) reading for specific
information in the text.

(3) reading headings and sub-
headings to understand the
main points.

(4) looking at the illustrations
to comprehend the main idea
of the text.



76. (1) allow
(2) permit
(3) forget
(4) think

i |
-1

(1)  written
(2) writing
(3) wrote
(4) the write
78. (1) any more
(2) some more
(3) more and more
(4) all the more |
79. (1) was that all right
(2) should it be all right
(3) will that be all right

(4) is that all right

TET-112-EM/UM
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75-79. The following passage has five

75.

numbered blanks. For each blank

alternatives are given.

four
Identify the correct option for
each blank.

“I'll never go back to that
place,” Albert assured him. “I
_(75) this certificate to the head
teacher tomorrow, and that will be
the end of it.” “Don’t (76) to get
a reference in _(77) from your
mathematics teacher first,” Yuri
reminded him. Mr. Koch willingly
gave Albert the reference he
wanted. “If I say I can’t teach you
(78) , and probably you’ll soon be
able to teach me, _(79) ?” he
asked. |

(1) took
(2) take
(3) would take

(4) am going to take



84. I congratulated him on passing

835.

86.

the test.

Another form of the aboye
sentence is .....

(1) I congratulated owing t,
passing his test.

(2) I congratulated him unti] he

had passed the test.
(3)
he had passed the test.

I congratulated because of
he passing the test.

(4)

Identify  the
correct question.
(1) How high is Mount Everest ?

(2) What height is Mount
Everest ?

How tall is Mount Everest ?

How much height is Mount
Everest ?

grammatically

(3)
(4)

(@) I showed to the policeman
my identity card.

(6) I showed the policeman my
identity card.

Read the sentences (a) and
(b), and then choose the correct

option about them.

(1) Both (a) and (b) are wrong.
(2) Only () is correct.

(3) Only (a) is correct.

(4) Both (a) and (b) are correct.

TET-112-EM/UM

I congratulated him becayge-
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80.

81.

82.

83.

BOOKLET e

The horse galloped away.
The underlined word ig &
adverb of .....

(1)
(2)
(3)
(4)

frequency
time
result
place

If it
come.

should rain, they wil] not

Here ‘should’ expresses
(1)
(2)
(3)
(4)

the necessity.
a command.

a supposition.
an obligation.

Tell me how you found that out.
The underlined part is
(1)

.....

a Noun clause.

(2) the Main clause.
(3) an Adjective clause.
(4) an Adverb clause.

I was upset by her mistakes, but
I

Complete the sentence

choosing the correct idiomatic
expression.

(1
(2)
(3)
(4)

slipped my tongue.

lashed my tongue.

was on the tip of my tongue.
bit my tongue.



89. Formative assessment is based on

(1)

(2)

(3)

(4)

four tools. They are ...

Individual performance,
Performance in Group,
Project work and
Performance in literary
activities.

Notebooks, Slip tests,
Project work and Own
writings.

Observation,  Notebooks,

Project work and Slip tests.

Records, Slip tests, Note
books and Performance in
co-curricular activities.

The function-based and task-
centred approach is .....

The Communicative
approach.

The Situational 'approach.
The SOS approach.
The Structural approach.

90.
()
(2)
(3)
(4)
e &

P

TET-112-EM/UM
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(3)

(4)
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87. A test ig considered ‘Reliable’,
if ...

all the students pass in the
test.

students get the same result
when it is conducted again.

1t measures what it claims to
measure.

it covers all the items in the
syllabus.

The checklists given in each unit,

at the end,

in the English

Text books are meant for ...

(1)

(2)

3)

(4)

the assessment of pupils by
their parents.

the assessment of pupils by
their Headmaster.

the assessment of pupils by
the teacher.

the self-assessment by the
pupils.

oo
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PART.IV
MATHEMAT|cg.CONTENT
93. If the digit in unit’s place of a 91, Thescaleof amapis1:30000, ¢
number is 7, then the digit in the | - |
it's o] fibs b two cities are 4 cm apart in the
unit’s place of its 18 ...
T8 By ’/&K‘ ( . J/'T 9 map, then the actual distance
b'f,»": { #-M".:, | V2 > . 3
€ i ol ’;K]'(JL)}& o between them (in kilometers) is
e (w OV v
7@ £91:30000 VLT U126 g
1 a1 Er (U2 ) L6 o
/
A 12 (1®
120 (2 -
94. The smallgest rational numberin
4 5 T2 012 (3)
9) 12, 18, 3 1S .....
12 (4
4 5 T 2
g ) 10 T, — I &l 3
e 1 gy e B4
=5 J‘(J“}’W’ o 92.  Thenumber of lines of symmetry of
- anisosceles triangleis.....
4 g
9 D SBEE et U 92
B -4l
12 12)
' 2 (1
2 .
5 G 1 we 7~
. 4 3 L
18 5 b
[23]
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97.  Theareaof a square field is 36 m?.

If abird flies at g speed of
3042 m/minalongthe diagonal

line, then the time (in seconds)

required for it to crogg the field

(e 28, 36 SKAE L 97
s 3042 2 L5, Wz

(J:J/t-c) _":’)JK/)iL
8 (1
\fp/) . 5 (2
© 11 3
N o @cé , /
12 ) e

98. J\Tﬁe class mark of the
S 90 120)is.....
f
/ < 7 u@‘ungo 120) =#lz .98

115 (1)/

120 (2
’ 105 (3%
90 @4

[24]

95.  Thenumber of distinct three digit
numbers that can be formed by
using the digits 7, 2 and 3 without
repeating the digits, is......

Lid WK o s it ¥ 95
B3 12T Ursr iz o Sl el

e i gl SUeIe s
6 &0
4 (2
3 (3)
5 ()

96. From arope of length 11 m, if two

pieces of lengths 2§ m and 3136 m

are cut, then the remaining length

of the rope (in meters) is......

3 =
28 A2 2"5' //’LU’MUJ/*'-’: 11 u{’ .96

. . 3
G230k b S ULsbaa S 22 316

Kn () Uy

= @ 52 (1)
4% (4) 5% pa)e/
TET-112-EMyy,
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101,

N

A rect angular blOCk OfdimenSi()n

Ifthe simple interest is 12% % per ¢ 16x10x8 units is .paintetd. Ifit g
cut into cubes of dimensions 1,7
annum, then the number of years iy, units, then the number of Cubgg
which a certain amount of money jq which are not painted at all, i
doubled, is...... dbmg_l;u::ﬂ 16x10x8 s 9
J9
rUf 12w g & d01| Luid XXt U gy s
Juw&f WLLL NS
- Jonthyd /u’:‘?.{l{;/“ -J}H’M
8 (11 812 (1)
1 796 (2
7=
5 @
945 (3
9 3 672 (Z}tl
3 1
2 ( 100. Byoversight, aboy divided g certain
number by 75 and obtained 72 a5
102. Ina plane, if three or more lines both quotient and remainder. If had
intersect at the same point, then hedivided with correct number,
they are called...... namely 72, then the remainder
(1) Intersectinglines. is ...
2) Concurre.nt lines. 75 o J W (g v{‘ - th 100
(3)  Parallellines. R . -
(4)  Perpendicularlines. UJHJEJ"C/J O Z/ f:ﬂ —
BELB 0t Aggs= o 102 oy wl et S 10
g unZ S, B K el S S
s @, | 0 @p/
Ty e (sqf 2 (@
S (3) 3 @
LSt (4) 1 4
[25] TET-112-EM/UM
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p mthe 103, The angle which is not possible to

form of g where p and q are construct, using a ruler and

‘ CO OC 1S......
integersand q = (), then it is mpassis

- P V{QMC/K/,/,"/:/\):@V{J__JUV” 103

Cee 6 EE 19999 1 105 i
A
—5q=0 ,_-’V_':’:',«-“S‘ q4p S
67+ (1)

<
19 r/ o
10 ( 40 (21\~

221° (3 :

@p + 1999 = @

, - 1000 @
b £ 30° (4
9

(3

2
N
9

Cy\q (4) 104. Theaverage of first six composite
AV
numbersis.....
106. A Dbody observed, a pillar and a tree,
in his school playground. The pillar b sEs ! _,// 6L .104
of height 8 m casts a shadow of ' ’ 3
length 10 m. At the same instance, 8% (1)

~>~ helreecastsa shadow of length
v & /40 b, then the height of the tree (in
ff

7 eters)is..... /

P . - Ol A 9 !
f:\,(‘c..;“,;/r_—vlf’é—vlf'{/-—&' 106 (2)
L B YN S AN U
o cdl = 8 (3
=3t 6210 U
P ' - : ' 1
z v - - yd -
S RICE MY L6740 86 il
40 (2) 50 (1)
32 *‘744 36 (3
(26] TET-1 12.EM/UM
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109. 1If tI;e total surface area of a cube is
96 cm2, then the volume of the cube
(incm3) is

% A8, 96 ;;ufﬂ,,f._gﬁ .109
€ (U7 b) Ay i
64 (\p’/
216 (2)
8 (3
27 (4)

110. Outofthe given numbers 10, 21, 35
and 24, the pair of co-j)rimes is

(s 10,21, 854 2451 25 110

~I7E s
10,24 (1
24,35 (2%
10,35 (3)
21,24 (4)

111. The value of
(4.27 X 4.27) — (3.51 X 3.51) i

427+ 351
- ¢ (427x427)-(351x351) .
& W i 427+351
. 078 (1)
/ 778
/ 76 (3)
0.76  (4¢—

¥

[27]

107.

If Siri sold a D.V.D. player for

¥ 2800 at a gain of 12%, then the
price at which she bought it (in

rupees) is

ADVD. L8 12% 6,/ 107

Sl dS 235 Ut 72800

(uwg;u)fm.i’c—g
2300 (1) /
2600 (2)
2500 (P
2400 (4)

108. Ifthe complement of an angleis

25% of its supplement, then its

. Imeasureis.....
26% 4= £ 1805007 108
fﬁfﬁ;d}ﬂid‘af
90° (1)
60° (;7[
75 (3
" 45°  (4)

TET-112-EM/UM
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114. Inatriangle, if one angle is equal t0

the sum of the other two distinct

angles, then the triangle is
(1) Equilateraltriangle
(2)  Obtuseangledtriangle
(3)  Right-angledtriangle

(4) Isoscelestriangle
abwse pw il tete (114
el nllr L e o L gy
et
sl W Sl (1)
adB i o 2 (z>/
SBT3
slAUG. @

[28]

112,

S25, 40 4 60 e 24 IS P

113.

The least number which when

divided by 25, 40 and 60 leaves a

remainder 7 in each case, 1S ...

o

112

-ﬂt«ué‘; 7 {é—/f:'j

607 (W
507 (2)/

1207  (3)

1007 (4)

A rope of length 32 cm is given.
Then the number of different
rectangles with integral
measurementsthat can be formed

withit,is.....

AU J6umd 32 1 113

JL‘;LE&Q;&D’K

T @3
32  (4)
TET-llZ-EM/UM
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MATHEMATICS \yTHODOLOGY

117.  Observethe following sentencesin
theorder they appear.
“If I'don’t born today, you don’t

born tomorrow.

Therefore youdon’t born

tomorrow.”

The phrase that logically fitg in,

is......

(1) Youborn today.

(2)  Youdon’t born today.
(3)  Iborn today.
(4)  Idon’tborn today. -

L’gag.uéul,(u}féé_)u:‘lj 117
e
4 'é;u){?«”‘wnuf O yi

?ZUM

_‘L,..i;’{u!’db/ﬁu;lfd
t')~

Nl ¥ 2‘/ [ 1)
\\ 4 é:; = )

LA T @
-’ﬁ’&(’/,’u: p U
et @

(29]

Which of the following types of test

items is suitable to test the

‘specification’ namely, ‘establishes

therelationships’?

(1) ‘Analogytype’ of test item.

(2)  “Trueor False’ type of test
item.

(3 ‘Multiple choice’ test item.

(4)  ‘Fillin the blanks’ type of
testitem.

O O Y T ARIT:
Wnlnir FIa UK 52 L
Fed Ll b S (ﬁ{;
SISy
ﬁlJrc«U’rd’ﬂﬂ’?’.ﬂ (3)
(‘:u‘é/;/ur@u @)

In first half of the micro teaching

cycle, first three stages lie in the
order shown below.
(1) Plan— Teach — Reteach.
(2)  Plan—Replan — Reteach.
(3)  Plan—Replan

— Reinforcement.
(4)  Plan— Teach

— Reinforcement,

w&/u: NN LN
Sl s

mc./z by ()
by f e f (9
L e f o 3)

(hyey

TET-112-EM/UM
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120.

/
/

o
"7\. N

7

>
(o

<

?éubc_;t';fngwé ObL/ 120 119. Which of the following ‘padas’ of

“The topics that are to be included
in Mathematics syllabi, should not
only bear relationship with life,but
should also help the students to

settlein life.’

Which of the following

118, ‘Kducation is not that which is

taught by a teacher; It is a natural
process; It is acquired from the
experiences provided by the
environment.’

The Educationist, who
conceived thisideais ....
(1) Pestology
(2) Poulya

principles convey the same meaning ? 3) Montissori

(1 Preparatory principleand

cultural principle.
(2) Preparatory principleand
correlational principle.
(3) Preparatory principleand
disciplinary principle.
- (4) Correlational principleand

N disciplinary principle.

/ ¢ . . . .
!*&u%b:‘/C—JAJD/U/J/‘;u

-4 S~ JA-'J

e a7 b
N 'S !Q,"&.J’i‘:—uf'é’—ut)

U6 4 APSE (1)

J;’"b’(};f,//"u";'gd/g (2)

J!’*b/k_;'-‘/;/"u"l’b/&j/g /

g p
| S oLl T «
Dl T2l w / §

(4)  Froebel i
G Lt by ™ 2 0 118
VS b el f St e n

,_:Jz’. (2)
Sty B
Jo) @

Aryabhateeya contains the
descriptions of measurement of
time and planetary motion.

(1) Gola Gamana pada

(2) Kaalapada

3) Geethika pada

(4) GolaGathipada

A UJ;:_u:u»,.«L.:A,/"uﬁgt? 119

PR ALY L R
.

”
) el

PRUISE AN )
sJe R
L8 (3

,:. O b/ -i’ (4)

l 30 l rl‘ET‘l 12-EM/UM
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PART-V
ENVIRONMENTAL STUDIES

123.  The correct statement in the
followingis....

(1 Both male and female tailop
birds build nest.

(2)
(3)
(4) Female tailor bird builds nest.

- erndefle Uit 123

Tailor bird does not build nest,.

Male tailor bird builds nest.

LBl iudn Q)
Jie LA (2
98béﬁ:"‘i« 7 (\?’)@s/
eIl (@)
124. The animal, which is not in the list
of the population that is decreasing...
(1) Kalivi kodi
(2) Sheep
(3) Tiger
(4) Battameka Pakshi
S s st L 6T 7560 124
‘auf} Je
TSIA7. )
A s
A G)
Fee @ <

|
/{’31]

AN s

121. Thedisease, caused due to protein
deficiencyis....
(1) Obesity
(2) Beri Beri
3) Kwashiorkar
(4) Marasmus
chaldblsir L SEZ 121
(D) // '
Se-bz (2
N
v @
122, Huntingand selling wild animals is

acrime according to the schedule-I

of ...

(1 Wildlife Protection Act, 1971
(2) Wildlife Protection Act, 1991
(3)  Wildlife Protection Act, 1981
4)  Wildlife Protection Act, 1961

U't/&;/.J:'t/'//ﬁKu;legf? 122
,gr]..;;; L1 J:jf

(2)f ’

OBz i

/1981 bfl&c;&ié?&’xﬁf 3)
1961 Q!J}c;&%’;u}ﬁ; (4)

TET-112-EM/UM
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127. The founder of Adi Hindu
Jatiyonnati Sabhain Telangana
was....

98] Arigey Ramaswamy
(2)  JyothibaPhule
3 Bhagya Reddy Verma
(4)  NarayanaGuru |
ol 1 Qs ST Lk e 127
Lf( S UF]
Sly UJ:L i Q})‘e/
LAl @
Wk L& (D)
Sk @
128. Telangana State Birdis....
(1) Parrot
(2)  Sparrow
(3) Dove
(4) PalaPitta

b$ Q)
LH @
=36

132]

125.  Sultan Mohd. of Ghazni, who
destroyed the Somanath temple was
acontemporaryof ...

(1)  Srimara Sri Vallabha.
(2)  RajaRajaDeva.
(3)  CholaRajendra 1.
(4)  CholaRajendral.
2 S ihi S sar £ vy 125
R iy
WS AAS . (D
ioldels  (2)
(p-m2Ng (3)
Jilslug @K

126. The state that lies on the west side

to Telanganastateis....
1 MadhyaPradesh
(2)  Karnataka

(8)  TamilNadu

(4)  Chhattisgarh

- u&zébuﬁ' .:/‘d/’ L berl 126

<
Jagees (1)
S @™
BV G))
HUE @

TET-1 12-EM/UIW
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131, The Sat avahana Dyvnasty was
founded by ..
(1) Sripulomawi
(2) Kanishka

Srimukha

Yagnasri Satakarni

of* IR
~ 'bb" '\”Qh:"byqﬁ-b\;‘!’r

(1

» i L »
C’."’-’u Kd

(2
L@
el e (@

132. The Kings Reservoir
“Hauz-I-Sultani” wasbuilt by....
(1) Ibrahim
(2)  Allauddin
(3)  ShahdJahan
(4) Itutmish

g’:/?f‘J&Lg?f”.,urtﬁc 132

A4 ()
Al (2)
| JAE (3)

Ao

131

55 oV

[33]

.

130.

The first floor of Qutub-ming, Wag

built by -
(1)  Babar
9)  QutubuddinAibak
3 Allauddin
(4)  Akbar
L/ ’/ ’l"?‘g” J29

o (1)/

Kl B 49)]
CZ el (3)
A @

Theriver that flows through desert
Saharais....

(1) Congoriver

(2)  Nigerriver

(3)  Nileriver

(4)  Voltariver

il e ihe i1 7130

s A/

j b L

J:L_l:u m/

L‘—“:LE/: (4)
TET-112-EM/UM
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135. Thisanimallivesin burrows.

(1) Monkey

(2 Fox

3) Rabbit

(4) Bear

b mUkde,, 135

14 (1)
$rd Q)
JI @7
afu (4)

136. Thesecan’t play roleinthe
depletion of Ozonelayer.

(1) Air conditioners
(2) Aerosols
3) Air coolers
‘4)  Refrigerators ,,~
J'JU:/&IJLU’(/&/?U)JJ’:/ 136
S
g Q) /
J’ vl (2)
S G
S f - @)

137. The quantity of the fresh water in
the total water availableon the

133. Thisisnot one amongthe4R’s

referred to reduce pollution or to

saveenvironment.
(1) Recover

(2)  Repair

(3)  Reduce

(4)  Reuse

Sl e Jet 4R U, 133
S L £ Jan S

-4".t‘lg
Ut W d
() /
Y ANG)
Jeii (@)

134. Thelargest organ in the human

earth is SR
_LJ'J’J&%JL}&,J@X)’{_%J 137
1% ) e 10% (1)
2% (4) 9%  (3)

[34]

body is .-
(1) Lungs
@  Stomach
(3 Brain
@)  Skin
4"_,:""'%;__/):?)’%()'&&'.' 134
et (1)
s (2)
bus (
Mo ()

TET-112-EM/Upm
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140. This magazine was edited by
Vaddiraju brothersin Warangal ..

(1) Golcondapatrika
(2)  Rayyat
(3)  Tenugupatrika
(4)  Nilagiripatrika
LuFwasi it b 140

LIL‘JM
KridS (1)
e (2)

ZTANCY /
Er6A ()

139.
141. Throughout the world, the day and
night are equal in size on this day,
is ...
(1)  September23
(2)  September 24
(8)  September21
(4)  September22
S LSl =l sisn I L/';(L? 1/4 4
23 g;"
A2 (2
A 21 (3
~22 @
[35]

138.

Komaram Bheem was killed at....

(1) Pochera
(2)  Babejhari
(3)  Jodeghat
4)  Keslapur
WS et on 138
g2y (1)
Gl (2)
e iz @
S (4

This city is called the city of

lakes....

(1) Nagpur
(2)  Jodhpur
(3)  Udaipur
(4)  Jaipur

A0S A 139

S Q)
y
HesE  (2) /
/{.jé)}f (:?_l e
w2 (4)

TET-112-EM/UM
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143. The first hour immediately aftera?

accident is known as

(1 Silver hour

(2 Important hour
3) Diamond hour
4) Golden hour

-

—= Tl A Al b 143

(1) /

J o

S A

19’&/}{?' (2)
13';’:;',: (3%
A'L’,’ﬁ!f 4)

The nutrients that give energy

144.
are ...
(D Carbohydrates
(2) Vitamins
3 Proteins
4) Minerals
etk Ji¥ 144
P / . /
o "/):’Lﬁ/b ?a.)/
L (2
Z (3)
VY 4 4)

142, Sequential order to show the path

of food in the digestive system

18 ...

Mouth — Small intestine —
Qesophagous— Stomach

— Large intestine.
(2)  Mouth— Oesophagous
_y Small intestine — Large
intestine— Stomach.
(3) Mouth— Oesophagous—
Stomach — Small intestine
— Large intestine.
(4) Mouth— Oesophagous—
Small intestine — Stomach

_yLargeintestine.

-
-
el AeS M
O C
= S
P ”Q 7 /
S R (2)
PETEC P
“ - d ’
= LWL /o0 g%
=S e
"" 4 r /
e oo e (4)
i T
; AP s
|
TET-112-EM/UM



BOOKLET

B

Which one of the following is not

147.
attainable by the end of lesson ina

classroom”

(1 Enabling student to draw
thediagram of flower.

(9, Enablingstudentto
demonstrate an experiment
in classroom by himself.

(3)  Developingscientific
attitude amongstudents.

4)  Enablingstudent to
understand the concept of

water cycle.
e S SeAas ) 14T
-ﬁagg*uf’fu4(@i£
Il o FSAE (A
42

(,ic:}y/f?’uf:,f'.z;/ (2)

/

N PR
Y PRy 7
Cf/'-/._mf'yuf;& (3 r

7 s 7

(7~ C p T
‘) e sl (4)

Lo ~ & 4
b L& gy

[37]

Methodol0gY

«Gtudents will be able to analyse
the given problem.” - Thisobjective

belongs to following domain.

145.

(1)  Psychomotordomain
(2)  Creativedomain

(3)  Cognitivedomain

(4)  Affectivedomain

Lo S AL 145
cc ikt Py L
swds® /
4 ﬂ)'/
S @i din @ ¢
St @
“ After learning about nutritional
values of various food items,

students change their food habits. 7
This represents the following value.

146.

(1)  Creativevalue
(2)  Discipline value
(3)  Social value

(4)  Culturalvalue

G L e afd SN BT 146
Ji[d%l&(j‘ﬁ%’f&ﬂié
e St S
JA.}JL””(E (2)
)
A3E @

TET-112-EM/UM
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149.  The following test is used to find

thelearning difficulty of a student
inaparticular subject.
(1) Unittest

(2) Placement test
3) Summative test

(4)  Diagnostictest
;_;Js,b»dl:f'&&ul?‘lq,g/ 149
Lo S s Lo F o (i)

et 12 /
eIy (1)
et @)

G
e (4)5//

150. Selflearningiseffectively achieved
through....
(1)  Paneldiscussion.
(2) Doing an experiment in
laboratory.
(3)  Demonstration.
(4)  Listeninglecture.

S ow sl Sl ived <sb 150
_/‘.'_L:Clg

slsesfl - /
cisflef Sh] @

il (3)

148, Asking probing questions at the

beginning of lesson is intended ....

(1) tomake the student think
critically about the topicto
be taught.

(2)  toconfusethestudent.

(3)  torecall the conceptstaught
yesterday.

(4)  totesttheprevious
knowledge of student.

LB St eles fETT 148
b e S Eely
Lu#lni bz byl O

Sl d Lordas 5
w;u:ﬂ/fw )
b'ﬁ)l&’/ﬁé&lﬂ\z‘f ?3)/

Sl G @

\(2}/0/{7%’@4

[38]

TET-112-EM/UM




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "ID Card", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

